rhinotek

catalogue




Rigid Coupling Product Description

Model: XGQTO1 FIS MENA Model XGQTOT is Ductile Iron Grooved Rigid Couplings. XGQTO1 is designed for use on
schedule 10, schedule 30, schedule 40, GB/T3091 and WGalweld 7 pipe. Sizes of XGQTO1 from
25mm - 300mm / 1" - 12", Pressure of XGQTO1 conform to the list from UL and FM.

Technical Data

Nominal g;:)e Working Bolt Size Dimensions L mm/in
Part No. Size mm/ Pressure No. - Size UL | FM
mm/in in PSI/MPa mm 7/} L H
ooz | % || 18 |emowss [ 2| 0, [ 53 |
oo | 5 | 28] 5 [amoxes [ 0| % |5 [
oo | fo | B3] 50 o mons | o, | 02 |35 [
waorso | 5| 553 | 1R |emonss || B 135 ||
oarorest | 5 | 7o | 20 o ovmoxss | 20 [ 58 | [ e
XGQTO1-65-2 2632 3.78(')10 3?3% 2-MIOx 55 4?825 5];@1 1.‘71?2 uL | FM
XGQTO1-80 830 3?5?:0 3?3% 2-Mi2x 60 4.22)6 61.22’(:5 1.‘71?2 uL | FM
d woarooot| ' | 1881 B0 o ovmenes | 3| [ 8, [
xoaror00-2| 10| J5oo | 3ag | 2-M2x6s | oy | oy | yggg | UL [P
xoaroris1 || B | 5oy | 2-M2x7 | oy | g5os | 1gse | Ut | P
xoarori2s-2 | 'S I ggoy | pog | 27M2x75 | gy | ases | 1999 | Ut | P
xoarori2s-3 | 'S | g | pos | 27M2x75 | cire | giggn | 1999 | UL | M
xoarorsot | N0 | | 3oy | 2-M2x78 | g3e | gass | vage | V| P
xoarors02 | ' | gggo | g8 | 27M2x75 | 1Ecs | lgs | 1920 | Ut [P
xoarorso-s | 'O | (el 58 | 2-M2x75 | Fas | gy | 960 | Ut | P
xearor-200 | %% | FOU | Dy | 2-Mexs | S0 |1 700s | 230 | UL | P
el 21%0 1(?.';28 g%c; 2 - M22 x130 15.?29 1:3(7)2 2.%5;7 UL | M
xearorsoo | %0 | U | gy [2-M22x130 | Bol | igos | 2589 | Ut [P

L
rhinotek



Rigid Coupling

Model: XGQTO1P Pipe Dimensions L mm/i
Nominal OF;) Working Bolt Size SRR 5 Wl AT

Part No. Size mm/ Pressure No. - Size UL | FM
mm/in in PSI/MPa mm ] L H
125 139.7 500 169.5 229 52

HESTl e 5 5.500 3.45 2 e e 5 6.673 | 9.016 | 2.047 ELL |
125 141.3 500 170.5 232 52

eSOl P 5 5.563 3.45 2 e e 6.713 | 9.134 | 2.047 ELL |
150 165.1 500 195 256 52

e 6 6.50 3.45 2 e e 7.677 | 10.079 | 2.047 ELL |
150 168.3 500 202.5 | 2635 52

HEETY e 2 6 6.625 3.45 2 e e 5 7.972 | 10.374 | 2.047 ELL |
200 219.1 500 256.5 | 336 62

MG 20 8 8.625 3.45 2 ey 10.098 | 13.228 | 2.441 Ll A
250 273.0 500 326 410 65

HESIIFEE0 10 10.750 3.45 2 PR RY 12.835 | 16.142 | 2.441 Ll | A
300 323.9 500 384 472 66

HACEIRN 22 12 12.750 3.45 20 PR R 15.118 | 18.583 | 2.598 Ll | A

APPROVED FIS  Fsmena

L
rhinotek



Flexible Coupling Product Description

Model: XGQT02 FIS MENA Model XGQTO2 is Ductile Iron Grooved Flexible Couplings. XGQTO2 is designed for
use on schedule 10, schedule 30, schedule 40, GB/T3091 and WGalweld 7 pipe. Sizes of XGQT02
from 25mm - 300mm / 1"-12". Pressure of XGQT02 conform to the list from UL and FM.

Technical Data

Nominal g%e Working Bolt Size Dimensions L mm/in
Part No. Size mm/ Pressure No. - Size UL | FM
mm/in in PSI/MPa mm (7] L H
xoa102:25 | | 5o | gag | 2-M10x45 | 50 | sagg | s | UL | P
X60102:32 | | yeo | gas | 2-MI0x45 | g | gy | 75 | UL | M
e X60102-40 | | oo | 3ag | 2-M10x45 | 5e, | 4osy | 17ap | UL | P
@ X60102:50 | 5’ | gt | zag | 27MOx55 | 5456 | 4gas | 1732 | V| P
il X60102:65-1 | 5 | g | 3as | 27MOx55 | 3oz | sass | 17az | Y|P
AR o 2632 3.7&)10 gc;c; 2-MI0x 55 4?825 5].;2;1 1.‘;?2 UL | FM
@ ﬁ% 4! ‘é’ 2 CCle2 Y 8?? 3?2&?0 g.ca)tg 2-Mi2x60 4.2(736 61.23?5 1.‘;?2 UL | FM
X6a102-100-1 | 1% | J5e0 | gae | 2-M12x65 | oon | pagy | gy | UL | FM
xoam02-100-2 | 00| G | gag | 2-M2xes | a0 | oles [ 1oy | UL | P
xoaroz2s1 | ' | g5y | ooy | 2-M2x75 | glor | 9o | 1aag | Ut | FM
xoa1021252 | 'C | 500 | 575 | 27M2x75 | g | asgs | 1920 | Y|P
xoaro2-125-3 | ' | Gui | 95 | 27M2x75 | Jre | aig | 1gg0 | UL | FM
xoaroz-wso-1 | 10| 0| G | 2-M2x75 | ik | glase | ey | UL | FM
xoaroz-ws0-2 | ' | g | Gy | 27M2x75 | 5o | s | 1059 | UL | FM
x60102-180-3 | '’ | o8 | o5 | 2-M2x75 | as | gy | 1ogg | UL | FM
xoamo2-200 | % | FOe | S | 2-Mexss | g0 | s | 53 | UL | P
IRz 21%0 1(?;28 g.%(; 2-M22x130 12\%0 1(?.(7);7 2.?130 UL | FM
x60102:300 | 57 | g7 | S |27M22x130 | ok | ron | 5ag0 | UL | P

L
rhinotek



Flexible Coupling Technical Data

Model: XGQTO2P Pipe Dimensions L mm/i
Nominal 0'7) Working Bolt Size SIS Wl AT
Part No. Size mm/ Pressure No. - Size UL | FM
mm/in in PSI/MPa mm (%] L H
125 139.7 500 169.5 229 52
AR 5 5.500 3.45 2l i 6.673 | 9.016 | 2.047 e
125 141.3 500 170.5 232 52
AR s 2 5 5.563 3.45 2l i 6.713 9.134 | 2.047 e
150 165.1 500 195 256 52
Melelea o 6 6.500 3.45 2l iy 7.677 | 10.079 | 2.047 e
150 168.3 500 202.5 | 263.5 52
Helelbz e = 6 6.625 3.45 2l i 7.972 | 10.374 | 2.047 e
200 219.1 500 256.5 336 62
@ eﬁ d’ AR e 8 8.625 3.45 2 10.098 | 13.228 | 2.441 WL
250 273.0 500 326 410 65
APPROVED FIS MENA = =
" LG22l 10 |10750 | 345 |2 M24x130 1 o035 | 16142 | 2.441 | V- | FM
300 323.9 500 384 472 66
XGATO2F=300 12 12.750 3.45 2oy 15.118 | 18.583 | 2.598 WL | b

L
rhinotek



Flexible Coupling
Model: XGQTO2K

Nominal g;i)e Working Dimensions L mm/in
Part No. Size ‘| Pressure uL | FM

mm/in "‘I:‘/ PSI/MPa 2 L H
XGQTO2K-50 520 gg% gzg 1.‘7‘;'2 5??5?4 1.‘:361)1 uL | M
xearozk-go | 50| J55 | 200 2325 | 633 wen | U | M
xoarozk-100 | U0 | S50 | 2ag | ao1s | som | 2008 | U | P
xoarozk-150 | 10 | (8| Zas | aoss | 030 | 2ms | U | P
xoqrozk-200 | 280 | 00| 50 | szm | woms | 280 | U |
XGQT02K-250 21?30 1(2)?735 ggg ;.2?7 16%411857 2.2;8 uL | M
XCQIO2KCS00 31%0 ?ﬁg ggg 71.231 1;.228 2.237 ub | ™

The specific items list shall be subject to the public notice of FM and UL website.

e

L
rhinotek



Angle Pad Coupling

Model: 31A Nor.ninal g%e Working Bolt Si.ze Dimensions L mm/in
Part No. Size Pressure | No. - Size uL | FM
mmsin | "™ | psi/MPa mm o L H

S T | | 2o | 27M0x45 | o0 | sass | 1sso | U
Al | e | o |2 | | | e |
w40 |y | veco | 20n | 27MOx55 | 5 | azpo | 1ss0 | Ut | P
w0 | 5 | s | sor | 27MOx60 | 55y | ame | asso | UL | P
WS | 5 | g | a0 | 27MOx60 | 5odo | sais | usso | Ut | P
Il W62 | 5y |so00 | sor | 27MOX60 | 4o | 55 | 1aso | UL | P
L 380 | Y |5s00| aor | 2M2x65 | qeos | eare | rsro | Ut | P
B w00 | P | s | sor | 27M2XT0 | S%s | aisps | a0 | V| P
T GG [ T B [ ][5 |
w25 | 0| 50| sor | 2TM2XTS | g5t | mesa | 20m | Ut | P
w52 | | S| o | 27M2xT5 | oor | e | aom | Ut | P
w501 | 0| oo | sor | 27M2X75 | san | gas | 2067 | U |
w02 | P | g5o0 | 207 | 27M2X75 | 5oy | ger | ey | UL | P
w503 | '° | gens | 207 | 27M2%75 | g | gnes | 206y | Ut | P
2001 | %P G5e[| o7 | 27M6xTO | gl | 1aas | 2820 | UL | P
2002 %0 | gon | per [ 2M6xTO | S | r60g | 2820 | UL | P
32501 | 35 | loe | 207 |27M22x155 | 1308 | 15433 | 2600 | UL | P
MM250-2 | 0" | jonag| 201 |27M22X155| 13au | 15948 | 2600 | U | P
w300 | || sor |27M24x165| Gy | wmags | 2600 | Ut |

L
rhinotek



Heavy Duty
Rigid Coupling
Model: XGQTOTH

®éy

FIS MENA

Heavy Duty
Flexible Coupling
Model: XGQTO2H

®éé

FIS MENA

L
rhinotek

Technical Data

Pipe

Dimensions L mm/in

Nor.ninal o.D. Working Bolt Si.ze
Part No. Size Pressure No. - Size UL | FM

mm/in mlr:/ PSI/MPa mm 2 L H
oororso | % | 95| 0 |5 wouss | 28 | B2 | % [u
oorories | fo | e | 50 [ aowonss | 8 | 2, | % |u
oo | © | B850 | [ 2| 0| % u
xearom-ioo | G2 | oo | gas | 2-M2x75 | s | gmes | 2008 | U
oorovizs | B | 9140 |5 meero| 72 [ 20T 8 Tu
xearomtso | 2| oy | 5y | 2-mex100 | D | oase | 2087 | U
wororizoo| 20 | 263] 30 |5 o] 294 | B T 5 T
xoatom-250 | %0 | i0eos | pop |27M22x130| g | ioit | a0 | U
XGQTOH-300 31%0 12?2359 2.%(; 2 - M22x165 14\.7)6':7(])6 17‘.1755]6 223;0 ut
wororsso| %0 | %58 | 30 |5 w222 [ a0 T 8 T
xoatom-a00| 5P | HGt | T |3 mM22x100 | g | po0s | 2983 | Ut
xoatom-aso | G| g% |5 |3-m22x100| 157 | ppiago | 3228 | U
XGQTOH-500 52000 52%8 ?3(2) 4 - M24x130 225.25414 2?.?25 3.71?0 ut
XGQTOIH-600 620 40 623'6 123(2) 4 - M24 x 130 227;; 4 3'7()8;:9 3'_71?0 UL

Technical Data

Nominal gp; Working |  Bolt Size Dimensions L mm/in
Part No. Size m|:n/ Pressure No. - Size UL | FM

mm/in in PSI/MPa mm ] L H
350 355.6 300 406 454 75

AR A S 14 14 2.07 9 ey 15.984 | 17.874 | 2.953 =L
400 406.4 250 458 507 75

HEiellen 20 16 16 1.72 B o 18.031 | 19.961 | 2.953 =L
450 457.2 250 507 535 82

HElelesf ase 18 18 1.72 B oy 19.961 | 21.063 | 3.228 =L
500 508 250 564 663 79

Meielle ey 20 20 1.72 G Ry 22.205 | 26.102 3.1 =L
600 609.6 250 672 774 79

HEIRea Y 24 24 1.72 G ey 26.457 | 30.472 | 3.1 =L




Reducing Flexible Product Description

Coupling FIS MENA Model XGQTO2B is Ductile Iron Grooved Reducing Flexible Couplings. XGQTO02B is
. designed for use on schedule 10, schedule 40 and GB/T3091 pipe. Sizes of XGQTO02B from 50mm
Model: XGQTOZB - 200mm / 2" - 8". Pressure of XGQTO2B conform to the list from UL and FM.

Nor.ninul Pipe Working Bolt Size Dimensions L mm/in
Part No. Size O.D. Pressure |\ " e e mm UL | FM
mm/in mm/in PSI/MPa @ L H

xoatozs-aoxs2 | | CENIEL | o | 2omoxas | B WS | ams | Ut | P
RCOIO2B SN0 520xx'| "‘/? 26.);)7‘1‘;> X ﬁggo g.%(; ZRHIONIES 3.?13 5?(2)?9 1.;1;0 ol s
e 261/52):(‘]1(‘)/2 2.7:7'2 X ig'g’o ;%97 2= xEs 3?3';6 5?%7’;4 1.220 ol
H xoarozs-esxso- | 5150 | JEONSS | aer | 27M0x5 | g | oae | 1as0 | UL | M
@@ xoarozs-esxao-2 | x40 | NS | 3 | 2-moxss | 08 | IS | a0 | UL | M
By xeatozs-esxso-2 | 55X%0 | N POS | 3% | 2-moxss | 08 | geh | vgeo | UL | M
N roaromesnes | 28185 | e |0 | aomonss | 298| 2 | [u | e
RCOI02E80 X0 goxx1"1/? 3%%%??%80 2.%3 2=HBxE 4]?24 6].2‘5‘7 1.330 ol
<G> d & oo | R1p | s, | 18 | e | 52| o | e ||
APPROVED R e RCRI02Ea 80Xl §°xxg‘32 3%%%1?54 :.%(')7 2=MEEEs 41324 6].227 1.330 U ||
xoarozs-soxes2 | L | GBI | 3G | 2-m2xes | T | e | ageo | UL | FM
xoarozs-tooxao | 0TS | RSN | o | 2-M2xes | o | e | vese | UL | P
xoarozs-tooxso | 10X | EON e | aer | 2-M2xes | doge | 7em | vese | UL | P
MRS ]2 2 2315 4?15‘:53 X ?é% g.%(; 2°MBEE 5?386 71.237 1.339 WL ||
ACRIO2BLI00XES2 ]2 3 2325 4.2357): 27.%«];6 3%3 A=HRnE 5?286 71.237 1.339 O || w5
xeatoze-tooxso | 190X | TASxIRE | aer | 2-M2xes | oo | e | vase | UL | P

xearoze-soxioo-t | BEXP0 | BRI | aer | 27M2x7s | Rl | Ghe | 1ee
xoatozs-isoxeo | TOX0 | JESKIRE | aer | 2oMexms | S | ghes | weee | Ut | P
xearozs-soxioo-z | PGP0 | JESXIES | der | 2M2xTs |0 | gass | rese | UL | FM
RGO ICBZ00400 20;) X ;50 82.(]:%; ):( 122'235 2.%3 2= MB=IY 15234 123.,:]';32,3 22%2 0|

L
rhinotek



Push Lock Coupling

Model: 101T Nominal | Pipe |[Working| Bolt Size Torque Dimensic.ms L mm/

Part No. Size O.D. |Pressure| No. - Size | Value in UL | FM
mm/in | mm/in | PSI/MPa mm (N-M)| A L H
101T-25 o9 = G M10 x 55 90 +10 | 57.3 | 98.6 | 47.6 | UL | FM
1 1.32 3.1

101T-32 1312 126;1 43510 MIOx 60 | 90 =10 64 [(107.5| 475 | UL | FM
101T-40 .|41(/)2 ?gg 43510 MIOx 60 | 90 =10 70 N4 | 475 | UL | FM
101T-50 520 20:’; ?;65’5 M10 x 65 90 =10 84 128 48 UL | FM
101T-65-1 2632 2737 32655 MIOx70 | 10010 | 96.4 [ 140.3 | 48 UL | FM
101T-65-2 2632 :Z%;I) 32655 MIOx70 | 10010 | 99.5 [ 1435 | 48 UL | FM
101T-80 8?? 2853 32655 MI2x 80 | 10010 | 113.5 | 168 48 UL | FM
101T-100-1 .I?‘_O ‘10285 32655 MI12x80 | 120+*10 | 133 (1875 | 50 | UL |FM
APPROVED 4! rgga 101T-100-2 13_0 245'3 32655 MI2x80 | 120+10 | 143 194 50 (UL |FM
101T-125-1 1255 5]32:1 32655 MI12x 85 | 150 =10 | 165.5 | 221 50 (UL |FM
101T-125-2 1255 1533(.)7 32655 M12x85 | 150 =10 | 172 228 50 (UL |FM
101T-125-3 1255 1__,4]52 32655 MI12x85 | 15010 | 173.7 | 2295 50 | UL | FM
101T-150-1 ]560 (‘15296 32655 MI12x90 | 150 £10 | 190 251 51 UL | FM
101T-150-2 ]560 ]gi_;] 32655 MI2x90 | 150 +10 | 198 256 51 UL | FM
101T-150-3 ]560 ]:2?‘;5 32655 MI2x 90 | 150 £10 | 201 259 51 UL | FM

L
rhinotek



U-Bolted Mechanical
Tee Threaded
Model: XGQTO3U

®=p-¢9

L
rhinotek

Product Description

FIS MENA Model XGQTO3U is Ductile Iron U-Bolted Threaded Mechanical Tee. XGQTO3U is
designed for use on GB/T3091, SC40, SCI10, EN4200F and EN4200E pipe. Sizes of XGQTO3U

from 25mm - 65mm / 1" - 2 4", Pressure of XGQTO3U conform to the list from UL and FM.

al Data
Nominal Pipe Working | U Bolt Size Dimensions L mm/in Hole
Part No. Size O.D. Pressure | No. - Size Cutting UL | FM
mm/in mm/in PSI/MPa mm A B [of Dimensions
MEECHUR 215:'/15 13277 xxo2.g9 ;.%3 RUCkI2S 1.2(;5 2.2%2 1.224 o.?;is WL || ¥
ACRIOSE 20220 2?: 320 13332; X 12.8':9 ;%2 RUCkg2S 1161’1 32%7 1.233 o.%;is L || ¥
xoarosu-asxes | %X | TUXIL | S0 | m0x285 | 80 | 3305 | a5aa | ooss
xoatosu-s2xis | 7N | (GO | S5 | Moxass |8 | T | o30s | me | Y|P
xeatosu-3xe0 | BT | OXES | 0% | moxass | | | od0s | e | Ut | M
xeatosu-saxes [ 352 | ROXIET | 300 | moxass | 2% | Bas | 225 | M
xearosu-saxas-2 | X% | (BN | T | moxass |50 | B0 | L300 | adso | UL | P
ACCIo=R o 1412 i 1;85: g.]é§9 S.%(; MOx285 | |3 31361 2233 1igl UL ||
xearosu-aoxzo | Y150 | GRRNICE | I | moxass | 00| T | o3 | wm | Y|
RCRICSMEO S ﬁ(?/zx x215 1.‘;%3 X ?3::,277 2%3 JUCKES 2.52?33 323:51 2323 1.3;21 5
MEREE Y ﬁ(?/zx x215 1.‘;%3 X ?357 2%3 RlCkdes 23%3 33311 2.5323 1.220 AL ||
ZCRIOSE SO 52o xx');s 2%%53: (?.18.39 2%3 RUCKE0 2?2‘6 3.330 2.5333 1ig1 b || ¥
xoarosu-sox20 | T X70 | PSRl | 0% | moxs0 |30 | (T | azas | ve | VL[ ™
xearosu-soxas-t | 9% | PUEIS 1 000 | moxso | B00 | T | 23 | we P
xoarosu-soxzs-2 | *0%7% | JRINITL | T | M0x30 | 2500 | 7m0 | o3 | 1ae0 | UL |FM
xeatosu-esxist | AT B0 | aer | MO0 | 50 | asn | azs | oe | Y| ™
xeatosu-esxao | 25XE0 | R | 3 | Mox30 |80 | S | a3 | me | V| ™
ACOIOSRcox208 t()251/:( x2 ? 2.;\;,4xx313.%>727 22)3 QUCRESC 277%6 41.13%1 2333 1?7;21 ¥
RGOS 625'/: x2 ? 2.;?4)()(313?.3727 ;%3 LUCESSD 2."77?-36 41.1:%1 2333 1250 UL || e
x6a103U-65321 | 501 | pgantess | 201 | MO*30 | 2650 | asd | 20m | 2000 | U
ACRIUSECOXIEE 26 ?/;Xx]'i 2.2)32 x %].539 ;%3 LGRS0 2.2:)2 41.13%1 2323 1.3;21 L || ¥
RCUIOSESo X202 g §/2sz2 2.7;;16)()(%%29 ;.%3 LoD 2.((:';8 41.]3%1 24233 1.3;21 UL || ¥
xoarosu-esxas-3 | 9% | U N | g | Mox30 | L0 | | axs | e i
xoarosu-esxas-a | 9% | LT | 0 | Mox30 | L0 | T | o3s | usse | YU | P
xeatosu-esxsz2 | o33 | poel oo | 3 | Mox30 | %20 | deee | 2om | seor | U
xeatosu-soxis | PXE | FORTS | 3 | M2x30 | 50 | s | seer | rase | U
xearosu-soxz0 | 0P | FOXTRS | S0 | mmaxzo | L B0 | NS 0 W
xearosu-soxzs | P33 | FORTT T | maxso | 50 | S | gemr | wase | U
RCRIOSESXS2 z;,0;:(1 {,/? 2?3%?3 X ?.2':9 ;%97 RUZRSS 2."77%6 5].?37 3.7371 2.3107 ot
xoarosu-tooxis | 0% ° | JRTRES | I | M2xao | 0| JOes | avss | vavs | U
xeatosu-tooxeo | 10X | URENERT | T | 2o | N8 O0s | ohes | vase | U
xoatosu-tooxas | 109 X2 | URSNET 1 SO0 | 2o | | G | ST | vase | U
xeatosu-ooxs2 | 0017 | U iees | aor | M2x40 | D8 | Joks | son | 2007 | U

10




Mechanical Tee
Grooved
Model: XGQTO3

B¢y

L
rhinotek

Product Description

FIS MENA Model XGQTO3 is Ductile Iron Grooved Mechanical Tee. XGQTO3 is designed for use
on schedule 10, schedule 40 and GB/T3091 pipe. Sizes of XGQT03 from 50mm - 250mm /
2" - 10". Pressure of XGQT03 conform to the list from UL and FM.

al Data
Nominal Pipe Working | U Bolt Size Dipensionsltmmyn CH':o':!e
Part No. Size O.D. Pressure | No. - Size Dimuenls’i‘gns UL | FM
mm/in mm/in PSI/MPa mm (7] L K H .
mm/in
XGQTO3- 50x25 | 60.3x337 | 300 75 | n6 | 64 | 72 38
50X25 2x1 | 2375x1327 | 207 |2 ™MOX55 | 5053 | 4567 | 2.520 | 2835 | 1496 | Y- |M
XGQTO3- 50x32 | 603x424 | 300 75 | m6 | 65 | 72 46
50X32 2x1% | 2375x1669 | 207 |27 MOX55 | 5055 | 4566 | 2559 | 2.835 1811 L ||
XGQTO3- 50x40 | 60.3x483 | 300 75 | me | 65 | 72 46
50X40 2x1% | 2375x1900 | 207 |2 MOx55 | 5053 | 4566 | 2.559 | 2.835 1811 k|| A
XGQTO3- 65x25 | 73x337 300 o3 | 136 | 80 | 7 38
65X25-1 2%x1 | 2874x1327 | 207 |2 M2X60 | 346 | 5354 | 3050 | 3031 | 1496 | Y- |FM
XGQTO3- 65x32 | 73x424 300 | 5 wioeeo | 93 | 136 | 80 | 3 46
65X32-1 2% x1% | 2874x1669 | 2.07 X 3661 | 5.354 | 3150 | 3.268 181
XGQTO3- 65x40 | 73x483 300 | 5 wioeeo | 93 | 136 | 80 | 83 51
65X40-1 2% x1% | 2874x1900 | 2.07 3661 | 5.354 | 3150 | 3268 | 2007
XGQTO3- 65x25 | 761x337 300 02 | 44 | 8 | 7 38
65X25-2 2%x1 | 2996x1327 | 207 |2 M2x60 | 400 | 5669 | zom | 3051 | 1496 | Y- |FM
XGQTO3- 65x32 | 761x424 300 02 | 144 | 78 | 83 46
65X32-2 2% x1% | 2996x1669 | 207 |2 M2x60 | 4101 | 5669 | 307 | 3.267 181 || (A
XGQTO3- 65x40 | 761x483 300 102 | ua | 78 | 63 51
65X40-2 | 2% x1% | 2996x1900 | 207 |2 M2X60 | 4016 | 5669 | 307 | 3267 | 2007 | Y- |FM
XGQTO3- 80x25 | 88.9x337 300 na | 12 | 83 | 7 38
80X25 3x1 | 3500x1327 | 207 |2 M2x65 | 4488 | 5984 | 3268 | 3031 | 1496 | Y| M
XGQTO3- 80x32 | 889x424 | 300 na | 12 | 85 | 83 46
80X32 3x1% | 3500x1669 | 207 |2 M2X65 | 4288 | 5984 | 3.346 | 3.268 181 UL ||
XGQTO3- 80x40 | 889x483 300 ma | 152 | 85 | 93 51
80X40 3x1% | 3500x1900 | 207 |27 M?2x65| 488 | 5984 | 3346 | 3661 | 2007 |Y-|FM
XGQTO3- 80x50 | 889x603 | 300 ma | 152 | 85 | 99 61
80X50 3x2 | 3500x2.375 | 207 | 2" M2X65| 1488 | 5984 | 3.346 | 3898 | 2402 | Y- |FM
XGQTO3- 80x65 | 889x73 300 |, wioyes| M4 | 152 | 85 | 99 81
80X65-1 3x2% | 3500x2874 | 2.07 4.488 | 5984 | 3.346 | 3898 | 3189
XGQTO3- 80x65 | 889x76 300 |5 wioyes| M4 | 152 | 85 | 99 81
80X65-2 3x2% | 3500x2996 | 2.07 X65 | 4488 | 5.984 | 3346 | 3.898 | 3189
XGQTO3- | 100x25 | 1M4.3x337 | 300 o | w80 | 97 | 7 38
100X25 4x1 | 4500x1327 | 207 |2 M2x65 | 555 | 7087 | 3819 | 3031 | 1496 | Y |M
XGQTO3- | 100x32 | N43x424 | 300 1“0 | 180 | 97 | 83 46
100X32 4x1% | 4500x1669 | 207 |27 M2x65 | 5515 | 7087 | 3810 | 3.268 1811 UL ||
XGQTO3- | 100x40 | 14.3x483 | 300 1“0 | 10 | 98 | 92 51
100X40 4x1% | 4500x1900 | 207 |2 M2x65| 555 | 7087 | 3858 | 3.622 | 2007 | Y- |FM
XGQTO3- | 100x50 | 143x603 | 300 o | 180 | 99 | 98 61
100X50 4x2 | 4500x2375 | 207 | 2 M2x65 | 555 | 7087 | 3898 | 3858 | 2402 | Y- |FM
XGQTO3- | 100x65 | 1143 x 73 300 120 | 180 | 99 | 122 81
100X65-1 4x2% | 4500x2874 | 207 |2 M?2x65 | 555 | 7087 | 3898 | 4803 | 3189 | Y- |FM
XGQTO3- | 100x65 | 114.3x76.1 300 120 | 180 | 99 | 122 81
100X65-2 4x2% | 4500x2996 | 207 |2 M?2x65 | 5515 | 7087 | 3898 | 4803 | 3189 | Y- |FM
XGQTO3- | 100x80 | 14.3x889 | 300 170 | 180 | 98 | 123 86
100X80 4x3 | 4500x3500 | 207 |2 M2x65 | 555 | 7087 | 3858 | 4843 | 3386 | Y|
XGQTO3- | 125x50 | 139.7x603 | 300 68 | 220 | m2 | 99 61
125X50 5x2 | 5500x2.375 | 207 | 2 MOX75 | gqia | se6l | 4409 | 3819 | 2402 | Y- |FM
XGQTO3- 125x65 | 139.7x76.1 300 68 | 220 | m2 | 122 81
125X65 5x2% | 5500x2996 | 207 |2 MOx75 | cea | 861 | 4400 | 4409 | z189 | Y| M

n




Mechanical Tee Technical Data

G rooved . . . q Dimensions L mm/in Hole
Nominal Pipe Working U Bolt Size Cuttin
MOdel: XGQT03 Part No. Size O.D. Pressure No. - Size Dimensigns UL | FM
mm/in mm/in PSI/MPa mm 2 L K H s
mm/in
XGQTO3- | 125x80 | 139.7x889 | 300 68 | 220 | m3 | 136 86
125X80 5x3 | 5500x3500 | 207 | 2 MOX75 | g6 | seel | 4449 | 5354 | 3386 | V| M
XGQTO3- | 150x65 | 159.0x76.1 300 |, wiexes | 87 | 237 | @ | 12 81
150X65-1 | 6x2% | 6.260x2996 | 2.07 7362 | 9331 | 4764 | 4409 | 3189
XGQTO3- | 150x80 | 159.0x889 | 300 | 5 \oo oo | 187 | 257 | = | 136 86
150X80-1 6x3 | 6260x3.500 | 207 7362 | 9.331 | 4764 | 5354 | 3386
XGQTO3- | 150100 | 159.0x1080 | 300 | , \io. s | 187 | 257 | 125 | 158 14
150X100-1 6x4 | 6260x4252 | 207 7362 | 9331 | 4921 | 6220 | 4.488
XGQTO3- | 150x100 | 159.0xT43 | 300 | 5 \oo. gs | 187 | 287 | 125 | 158 14
150X100-2 | 6x4 | 6.260x4500 | 2.07 B 7362 | 9331 | 4921 | 6220 | 4488
XGQTO3- | 150x50 | 1651x60.3 | 300 194 | 247 | 123 | 99 61
150X50-1 6x2 | 6500x2375 | 207 | 2 MOx85 | 54z8 | 9724 | 4842 | 3898 | 2402 | Y- |TM
XGQTO3- | 150x65 | 1651x76.1 300 194 | 247 | 123 | 123 81
150X65-2 | 6x2% | 6500x2996 | 207 | 2 M6X85 | 38 | 9724 | 4842 | 4843 | 3180 | Y| TM
XGQTO3- | 150x80 | 165.1x 889 300 194 | 247 | 125 | 136 86
150X80-2 6x3 | 6500x3500 | 207 | 2 M6x85 | 5638 | 9724 | 4921 | 5354 | 3386 | Y- |FM
XGQTO3- | 150x100 | 1651x14.3 | 300 194 | 247 | 125 | 158 N4
150X100-3 | 6x4 | 6500x4500 | 207 | 2" M6x85 | 5638 | 9724 | 4921 | 6220 | 4488 | Y |FM
XGQTO3- | 150x25 | 1683x337 | 300 198 | 248 | 125 | 79 38
150X25 6x1 6625x1327 | 207 | 2" M6x85 | 9905 | 9764 | 4921 | 3m0 | 1496 | Y- |FM
XGQTO3- | 150x32 | 1683x424 | 300 198 | 248 | 125 | 84 46
150X32 6x1% | 6625x1669 | 207 | 27 MOX8 | g905 | 9764 | 4921 | 3307 1811 UL ||
XGQTO3- | 150x40 | 1683x483 | 300 198 | 248 | 125 | o4 51
150X40 6x1% | 6625x1900 | 207 | 2 M6x85 | 5905 | 9764 | 4021 | 3701 | 2007 | Y- |PM
XGQTO3- | 150x50 | 1683x60.3 | 300 198 | 248 | 125 | 99 61
@ eﬁ d ’ 150X50-2 6x2 | 6625x2375 | 207 | 27 M6x85 | 5995 | 9764 | 4021 | 3808 | 2401 | Y- |TM
XGQTO3- | 150x65 | 168.3x73 300 198 | 248 | 128 | 122 81
APPROVED  Fis  rismena 150%65-3 | 6x2% | 6.625x2874 | 207 | 2 MOX8 | 5905 | 9764 | 5039 | 4400 | 3189
XGQTO3- | 150x65 | 168.3x76.1 300 198 | 248 | 128 | 122 81
150X65-4 | 6x2% | 6625x299 | 207 | 2 MOX8 | 5905 | 9764 | 5039 | 4409 | z89 | U | M
XGQTO3- | 150x80 | 1683x889 | 300 198 | 248 | 130 | 136 86
150X80-3 6x3 | 6625x3500 | 207 | 2 M6x85 | 905 | 9764 | 5me | 5354 | 3385 | Y| FM
XGQTO3- | 150x100 | 1683x1143 | 300 | 5 yoc o | 198 | 248 | 128 | 157 na
150X100-4 | 6x4 | 6.625x4500 | 2.07 E 7795 | 9764 | 5.039 | 6181 | 4.488
XGQTO3- | 200x65 | 216761 300 |, viexioo | 247 | 302 | 150 | 127 81
200X65-1 | 8x2% | 8504x2996 | 2.07 9.724 | 1890 | 5.906 | 5.000 | 3189
XGQTO3- | 200x50 | 2191x60.3 | 300 250 | 302 | 152 | 99 61
200X50-1 8x2 | 8625x2375 | 207 |2 MO6X100 | a4z | nsoo | 5984 | 3898 | 2402 | Y |
XGQTO3- | 200x65 | 2191x73 300 |5 isxi00 | 250 | 302 | 182 | 130 81
200X65-2 | 8x2% | 8.625x2874 | 2.07 9.843 | 1890 | 5.984 | 5118 3189
XGQTO3- | 200x65 | 219.1x76.1 300 250 | 302 | 152 | 130 81
200X65-3 | 8x2% | 8625x2996 | 207 | 2 Méx100 | 5e4z | ng90 | 5.984 | 518 sig9 | Y|P
XGQTO3- | 200x80 | 219.1x88.9 300 250 | 302 | 12 | 137 86
200X80 8x3 | 8625x3500 | 207 |2 ™M6x100 | gg43 | ngoo | 5984 | 5394 | 3386 | Y| M
XGQTO3- | 200x100 | 2191x143 | 300 250 | 304 | 153 | 162 N4
200X100 8x4 | 8625x4500 | 207 |27 Méx100 | o84z | 1969 | 6.024 | 6378 | 44ss | Y- [T
XGQTO3- | 200x150 | 219.1x1683 | 300 |, \oe 100 | 250 | 304 | 158 | 210 160
200X150 8x6 | 8625x6625 | 207 0843 | 1969 | 6850 | 8.425 | 6299
XGQTO3- | 250x65 | 273.0x73 300 |5 oo x1s0 | 307 | 376 | 186 | 30 81
200X65-4 | 10x2% | 10748x2.874 | 2.07 12.087 | 14.803 | 7.323 | 5157 | 3189
XGQTO3- | 250x100 | 273.0x143 | 300 |, oo | 307 | 376 | 186 | 100 14
250X100 10x4 |10748x4.500 | 2.07 12.087 | 14.803 | 7.323 | 6.339 | 4.488

L
rhinotek



V-Mechanical Product Description

Tee Grooved FIS MENA Model XGQT33 is Ductile Iron Grooved Mechanical Tee. XGQT33 is designed for use
. on schedule 10 and schedule 40 pipe. Sizes of XGQT33 from 50mm - 200mm / 2" - 8". Pressure
Model: XGQT33 of XGQT33 conform to the list from UL and FM.

Technical Data

Nominal Pipe Working Bolt Size Pl L Gl Crtotlirel
Part No. Size O.D. Pressure No. - Size Dimensigns UL | FM
mm/in mm/in PSI/MPa mm 2] L K H "
mm/in
XGQT33- | 50x25 | 60.3x 337 300 | 5 wioxss | 75| M | 64 | 7 38
50X25 2x1 2375x1327 | 207 2953 | 4567 | 2.520 | 2835 | 1496
XGQT33- | 50x32 | 60.3x424 300 75 | m6 | 65 | 72 45
50X32 2x1% | 2375x1669 | 207 | 27 MOX55 | 5055 | 4567 | 2559 | 2835 1772 | Y| M
XGQT33- | 50x40 | 60.3x483 300 75 | me | 65 | 72 45
50X40 2x1% | 2375x1900 | 207 | 27MIOx55 | 5055 | 4567 | 2.559 | 2.835 172 | Y| M
XGQT33- | 65x32 73 x 42.4 300 93 | 136 | 75 | 84 46
65X32 | 2% x1% | 287x1669 207 | 27M2x60 | 3061 | 5354 | 2205 | 3.307 1811 UL |
XGQT33- | 65x40 73 x 48.3 300 o3 | 136 | 75 | 84 51
65X40-1 | 2% x1% | 2.87x1.900 207 | 2"M2x60 | 661 | 5354 | 2202 | 3307 | 2007 |U|FM
X\ XGQT33- | 65x25 | 761x337 300 | 5 viowes | 02 | 144 | 8 | 7 38
e\l 65X25 2%x1 | 2996x1327 | 207 406 | 5669 | 307 | 3051 | 149
1
] XGQT33- | 65x40 | 76.1x483 300 | 5 vioxes | 102 | 144 | 78 | 83 51
& 65X40X2 | 2% x1% | 2.996x1900 | 207 406 | 5669 | 307 | 3268 | 2008
e 5
g XGQT33- | 80x25 | 88.9x337 300 | 5 viowes | M4 | 82 | 88 | 7 38
80X25 3x1 | 3500x1327 | 2,07 4.488 | 5984 | 3268 | 3.031 | 1496
XGQT33- | 80x32 | 889x424 300 na | w2 | 83 | ea 51
80X32 3x1% | 3500x1669 | 207 | 27M2X65 | 468 | 5984 | 3267 | 3307 | 2007 |Y-|M
XGQT33- | 80x40 | 889x483 300 na | w2 | 83 | a4 51
@ & d 80X40 3x1% | 3500x1900 | 207 | 2"M2X65 | 4488 | 5984 | 3267 | 3307 | 2007 |Y-|FM
@ ﬂ ’ XGQT33- | 80x50 | 88.9x60.3 300 | 5 vioxes | M4 | 182 | 85 | 102 51 o | e
APPROVED FIS  Fismena 80X50 3x2 3.500 x 2.375 2,07 4.488 | 5984 | 3267 | 4.015 2,007
XGQT33- | 100x32 | N4.3x424 300 4o | 180 | 98 | 84 51
100X32 4x1% | 4500x1669 | 207 | 27 MP2X65 | 5515 | 7086 | 3858 | 3307 | 2007 |U|FM
XGQT33- | 100x40 | 114.3x48.3 300 4o | 180 | 98 84 51
100X40 4x1% | 4500x1900 | 207 | 2"MP2x65 | 555 | 7086 | 3858 | 3.307 | 2007 | Y|P
XGQT33- | 100x50 | T14.3x60.3 300 4o | 10 | 98 | 103 64
100X50 4x2 | 4500x2.375 | 207 | 2" M2x65 | 555 | 7086 | 3858 | 4055 | 2519 | Y| FM
XGQT33- | 100x65 | 14.3x73 300 o | 180 | 98 | 103 70
100X65-1 | 4x2% | 4500x2875 | 207 | 2"M?2x65 | 555 | 7086 | 3858 | 4055 | 2756 | Y- | M
XGQT33- | 100x65 | T4.3x761 300 | 5 vioxes | 10 | 180 | 99 | 22 81
100X65-2 | 4x2% | 4500x2996 | 207 K 5512 | 7.087 | 3808 | 4803 | 3189
XGQT33- | 125x40 | 1413x48.3 300 168 | 220 | 104 | 95 51
125X40 5x1% | 5563x1900 | 207 | 2 MOX75 | cea | se61 | 4094 | 3740 | 2007 |U|FM
XGQT33- | 125x50 | 141.3x60.3 300 18 | 220 | m2 | 100 64
125X50 5x2 | 5563x2375 | 207 | 2 MOX75 | g4 | seel | 4409 | 3937 | 250 Y[ TM
XGQT33- | 150x50 | 165.1x60.3 300 | 5 viexes | 190 | 247 | 123 | 109 64
150X50-1 6x2 | 6500x2375 | 2,07 7480 | 9724 | 4843 | 4201 | 2520
XGQT33- | 150x65 | 1651x76.1 300 | 5 visxes | 190 | 247 | 125 | 109 70
150X65-1 | 6x2% | 6500x2996 | 2.07 ki 7480 | 9724 | 4921 | 4201 | 2756
XGQT33- | 150x80 | 165.x 889 300 | 5 viexes | 190 | 247 | 125 | 1 89
150X80 6x3 | 6500x3500 | 207 X 7.480 | 9724 | 4921 | 5315 | 3504
XGQT33- | 150x40 | 168.3 x 483 300 198 | 247 | 120 | 92 51
150X40 6x1% | 6625x1900 | 207 | 2 M©x85 | 5905 | 9724 | 4724 | 6622 | 2007 |U|PM
XGQT33- | 150x50 | 1683 x 60.3 300 198 | 250 | 125 | 108 64
150X50-2 6x2 | 6625x2375 | 207 | 2 MOx85 | 9705 | o842 | 4921 | 425 2519 |UL|FM
XGQT33- | 150x65 | 168.3x73 300 198 | 250 | 125 | 108 70
150X65-2 | 6x2% | 6.625x2.875 | 207 | 2 MOx85 | 905 | 98az | 4021 | 4251 | 2756 | Y- |FM
XGQT33- | 250x65 | 219.1x73 300 250 | 30 | 152 | me 70
250X65 8x2% | 8625x2875 | 207 |2 M6x100 | 5e43 | 12204 | 5984 | 4566 | 2756 | Ut |TM
XGQT33- | 250x100 | 219.1x 114.3 300 |5 s 100 | 250 | 304 | 183 | 162 na
250X100 8x4 | 8625x4500 | 207 X 9.843 | 11969 | 6.024 | 6378 | 4488

L
rhinotek



Mechanical Tee
Threaded
Model: XGQTO03S

T

e 9

L
rhinotek

Product Description

FIS MENA Model XGQTOS3S is Ductile Iron Threaded Mechanical Tee. XGQTOS3S is designed for
use on schedule 10, schedule 40 and GB/T3091 pipe. Sizes of XGQTO3S from 40mm - 250mm /
1-1/ 2"-10". Pressure of XGQTO3S conform to the list from UL and FM.

al Data
Norrlincll Pipe Working | U Bolt S.ize Dimensions L mm/in Crtzliig
Part No. Size O.D. Pressure | No. - Size Dimensions UL | FM
mm/in mm/in PSI/MPa mm 7] L K H mm/in
xeatoss-aoxas | X% | QSN | T |2-moxas | 0| W o30a | seor | 1ae9 | U
ACQIOSS oA 5; Xx'/]as 2%%3: g.]éiq 2%3 B=HI9BES 2.2;23 4.1;27 22%5 2.27;5 1.226
UCRIOSESO0X20 53 X 3.0 2(?3(,)7'?, X ;2.8'599 2%2 A=HIBE 2;%3 4227 2.3(())5 2.33%5 1226
MEECES- R 52 ); 125 26.’?7'35; i ?§Z7 3%3 2=HRxEs 2395;3 4?;27 2;214 233%5 12‘36 a ||
MRS e 520><X1?/.2 2(.)3?7'.2, i ﬁ;} 2%3 2=hxEs 2.Z>553 4.1;%7 2.3214 2.33%5 1;?1 UL ||
PRCCIoSSE0X 520xx1 "1/? 2?3?7'2 X ﬁggo 2%3 2= Fi e 2;?53 4.1;%7 2.2102 2.35%5 1;?1 b || s
MRS R 35'/:3 ? 2.;34Xx3'ﬁ;727 2%91 B=CIBEEY 33;11 51.324 2.21)2 3.70731 1.236
RCRIUSSAEoXS2 26'/52§?%/. 2.;34Xx412.é29 2%(; B=FIBEE 3.%11 51;24 2.21)2 3.823(:8 1;?1 L || w5
xoaoss-eoxao-l | 2o 10 | SN o | 200 |2-m2xeo| ) (| 5es 2402 | akes| 2008
HEEIRESCRED ZE:/,X x5 (2) 2;34XX63§75 2%2 B=HEREY 33)361 51.33>§4 37(?71 3.23-6 2.3108
ACRI0SESOXIS 26 ?/,Xx]-i z.ggg X 31,33339 2%2 2250 33;11 51;;4 2‘(;29 3.7571 1236
RCSI0SSS0X20 g?/,xng 2.79%15)()(21%:9 ;%3 2adilI250 3.%11 51.224 2‘229 3.7:71 1.2‘8)6
XGaToss-65%25-2 | %X x2 i 2?622?3}27 :%(; 2250 4].8126 57229 2.217-36 370731 1226 ||
MEENEES e 2652);?%/. 22%?3.%29 S.%(; 2=hRxEY 4].8126 51229 2%6 3‘82\28 1:3?1 ||
MEBMESCRLDH 26'2);??/2 227%21%30 3.%3 2= EEY 41.8126 5?229 2.%6 3.8218 2.3:)8 UL ||
MERMEES RO g‘r:/: : g 2.79%2)()(62?33;5 ;.%3 2=MBEEY 41.3126 5?229 2.79213 3.8218 2.3108 ek
RCRICSSSOXD 8;) xx'}f 3.2%3 X 3?53’39 ;_%(; 2=HBEED 4%8 5?2&254 2.?74 3.70731 1.236
RCGIOSSAS020 8(3) X ’2/40 3.8:6%2%%39 ;.%3 B=MBEE 4%8 5?354 2.;3;4 3.70731 1.236
RCRIOSSE0228 8%:((?5 3?586%131.3;;7 ;_%2 B=MBEE 4.1128 5?224 3.';428 3.70731 1.236 L ||
xeatoss-eoxsz | PN | B% 0000 [ 207 |2-M2x65| s [ oone | 2ema |szes|  aem | v [P
xeartoss-soxao | PN | TONN00 | 2or |27M2%65 | sage| 500 | 2674 | 52| 2008 | U |PM
COICESS0XED sg X go 3?6%);2(?/5 ;%2 B=MB3Es 4.1411:8 5?354 3.7:71 3;?98 2.22)2 k||
KCQI0S Joox2oy 102: 12 ° zlgal.r;g X 133277 2%2 3=MBnEs 51.3155 6].332 33725 3.70731 1226
RCiosSo0xs2y ]?13)1( '3/.2 11.02%2 : 1‘.‘2&:; 2.%3 2=NBxeE 5];?5 61;?2 351725 3.8218 1:3?1
ACOIOSS 000 ]g% 320 23%3 : fgé% g.%(; 2=HBREE 51.3?5 61.352 3.3725 31222 2.3108
ACOI0SS 000y 10:) M 25 ° ;g%g X g.gfs 2_%(; 2=HBREE 51.33’?5 6].%2 3.?1725 3%9 2.21)2
HEQUEESIEREHA ]2 3 §3,5 4?32&0;2'.,836 g%(; B=HIBEREE 51.33’?5 6].%2 3;%8 411(2)9 2."77(;6
PCSIOSSLI00R2502 ]04°xx'/35 4.223:3.1539 2_%3 B=HBREE 5:.;?2 7?827 34315 3.70731 1.2‘8)6
xeaross-tooxzs=3 [ X2 || IEEXEAT | 355 |2-mexes [ I | 1087 | sdes| som|  1a%
xeaross-tooxzs-4 | 00X | BT | 30 |2-m2xes | M0 | 0% | seer | som | e | UL | M
AEQIOSSgO0XE252 12())(}(;2 41%(3));?12‘9 3.%3 B=ME3Es 51:}3?2 71827 33):21 3.82:28 1131 ||
KCQICSSJODX0a2 ]2% 320 41:(')%?(330 g.%g B=MEsEs 51;?2 71827 3.%11 3.2222 2.32)8 ||
xeaross-tooxso-2 | 00 X70 | BEIXS0 | 3% | 2-mz2xes| (2 | 0% | sest | soio | 2402 | UL | FM
MERMEES IS4 ]232325 4.;](;163;27.:74 g%(; 2=MBxeE 51;?2 71327 3.3510 4%33 3‘?;9 U ||
MEBMEES IS ]23 23? 4.2357’: 27.%3)6 g.?)(; 2=HBREE 5];(1)2 7?827 3:;9 41&2333 3.?;9 UL ||
xeaross-tooxso | 10 X0 | TSI | aor | 27M2x65 | o5h | 0gy | seo | aom | ssse | U | PM
RCUIOSSLI20020 12§ X 12 ° ;32332 X 13;277 2%3 B=D BT (:ggo az.g; 31.(;?7 3.70731 1.226
xoaross-tosxae [ 545 | SHOXMEL | 355 [2-mexms (20| don | 2057 | zzes| 1em
xoatoss-sxao | BX I8 [ JSEOXSS [ 300 | 2otmex7s [ 50 | om [ 20sr | atez| 208




V-Mechanical Product Description

Tee Threaded FIS MENA Model XGQT33S is Ductile Iron Threaded Mechanical Tee. XGQT33S is designed for
. use on schedule 10 and schedule 40 pipe. Sizes of XGQT33S from 25mm - 150mm / 1" - 6".
Model: XGQT33S Pressure of XGOT33S conform to the list from UL and FM.

Technical Data

Nominal Pipe Working | Bolt Size Do L i CH::I.e
Part No. Size. O.D: Pressure | No. - Size Dimuenlsri‘gns UL | FM
mm/in mm/in PSI/MPa mm 4 L K H "
mm/in
xoarsssasxis | XS | JUIKE | 2@ | 27MOx5 | gos | aer | 29as | aom | vaes | Y| M
QOIS e 2?;)7'2 X lz,ggo ;.%97 A== 2.37553 4227 2214 2'.5737 ].igé b ||
RCAISSS o0 22 e . e e it | b | aie | o ¥ |
xoarssssoxse | PRI | UG | s |27M0x55 | s | aber | 20ee | 2ess | ama | UL | P
xoarsss-soxao | PRV | SGR000 | 2or | 27MOx55 | gons | aser | oam | aess | ame | | ™M
L MRS Tvxn | 287089 sor | 2mmzxeo | | 3 | 2589 | som 1396 uL | m
RCOEESSgERX2D ;?/:xzf/i 2:7837);21%39 ;.%97 AoHBREe 31361 sgga 242559 370871 Ligb L || G
RCUIS=SecoXey i S ot S meeeen | i | e | o 1 aL || G
MECIESE S S e e o | iy | e | oo S |
xearasseoxao | S35 | gmatgeo | sor | 27M2x60 | i | s3ss | 2nea | saer | 2o | U | M
i NSRS Siin | e S zmwzeen | G| s S| 1
xearsss-esxsz2 | T | T Rk S| Aemes | Ao | nisn | s | soee s
@ & d ’ RCOTESSeoNEa2 67? ><X'/]z5 3;%3 : 315339 2%3 AoHBBE3 4.11‘;8 51.254 2.7913 3.7c;,31 12‘8)6 || G
@ APPROVED FIS  rsmena HESIRES LY EEaE S zmwzeen | e | IS Gh | 1 UL || G
MERIRES D e S o e 2 | e
xoarssssoxs | PN | EOTEG | aor | 27M2x65 | Llgs | soss | 2002 | s30r | acor | Ut | P
xoarsss-soxao | PNV | T8N0 | 207 | 27M2x65 | suge | sosa | 2ere | ses2 | zoor | Y| M
RCQISSSS0AE0 EEE S e | bk | e | st | e A5 | e
MRS ]040:'/35 423'03 : g?é?w ;.%3 AoHBBRES 512?2 7?326 34325 3.7c;,31 Ligb || G
xearsss-ooxes2 | QXS | ESXPES S zmwzeen | ol e | o 1 Uk || G
xearsss-iooxzs-3 | 100X% | IO, S| eiemes | o | s | s | see 2 | e
xoarssstooxs | ONT2 | HENTE | 3% [2-M2x65 | ook | o | seer | ssor | acor | Ut | P
MEENEEANEY LT e S A N s aL || G
xearsss-looxes-1 | QOXO8 | Ko T Se e | o0 | i | 2 | ase e
xoarsss-tooxes-2 | WONCR | TS K Ges | 2or | 27M2x6 | 3 | ey | sase | ager | 2796
xoarsss-osxat | SN | goiiusen | aor | 27M2x65 | gen | aeer | sow | s2es | 2008
xearsss-sxaot | N0 | BAKICS | o0 [ 2MexTs | g | aeer | 0w | ses2 | 2008
xoarsss-pexsot | P30 | SR | s | 2MexTs | (o | gear | 4css | a2 | 200
MEENRERE 122 e 51;]631?;;7 ;.?)(; 2= nw ;2?4 82.221 41.834 3.70731 1.ige b || i
xoarsss-msxiz2 | BN | SRS | 0G| 2-Mex s | GG | geai | aoe | sra0 | 2007 | Ut | FM
xoarsss-sxao-2 | AU | SRR | 2 [ 27675 | gana | seer | 400s | sva0 | zaor | Y| M
xoarsss-osxso-2 | VX0 | JERNTT | 2o | 27675 | gew | aeer | 400s | sesr | asw | U | M
HERIESRTES ST s S | mevitms | g | aea | cme | Ao S G|
xoarssstsoxs2-1 | GONTE | JSBNTEE | s | 27M6xss | 05 | oroa | asoo | s2es | 2008
ACCOISSSg0X0s ]52 : 25 ° 6].2(5)2) ); 3%35 g.%(; a=hoREs 7?2;8 9?74274 4.];?57 41.231 2.%20
xoarsss-toxest | 500 | B 0G0s | aor | 27M6x85 | Ll | groa | as | a2 | 2786
xoarsss-soxao | X0 | KXo | aor | 2M6x85 | J6ss | o7aa | 40w | s | 350a
MRS ]52 e (:fs%g X 133277 ;%(; ZagliCass 7].;755 9?';274 41.3(2)4 3.70731 1226
xoarsss-oxsz-2 | EONTE | (3RS | S0 | 2oMexss | o | ore | are | so2s | 2007 | YU | M
() xoarssstsoxao | G0N0 | (BIXCE | or | 2-Mexss | 0o | omea | arae | sesz | acor | Ut | P
rhinotek xoarsss-soxso-2 | BOXI0 | ORISR | 27 | 27M6x85 | or | gar | amoe | ager | asw | Y| M
xearssssoxes-2 | o30S | S0 e || e g | des | B e |




90° Elbow
Model: XGQTO06

Part No. Dﬁjien Plr’r):n?u? ‘I:‘::;Is(::'g 90(;:;‘::)’“’ uL FM
PSI/MPa L mm/in
XGQTO6L-25 215 13 3‘7,’157; 2,%3 2.2314 v m
XGQTO6L-32 f,i ]‘_‘62(',% 2.%(; 2%%2 Uk ™
XGQTO6L-40 141/02 ffg,% 2.%(; 2%%2 Uk ™
XGQTO6L-50-1 520 2?;;?4 2.%(; 2.77%5
XGQTO6L-50-2 % 2 o N ub| ™
XGQTO6L-65-1 2632 27 2'72; 2.%3 2.?9?92 ™
XGQTO6L-65-2 2632 3_73610 2.%3 2.?9?92 ™
XGQT06L-80 83? fgé’o 2.%3 3.?5(2)36 ™
XGQT06L-100-1 1?10 l(,)zsécz) 2.%3 41.8126 ™
XGQTO6L-100-2 1?10 4_1:636 2.%(; 41.8126 ™
: @ dj XGQTO6L-125-1 ]255 ;‘_7’235'% 2%(; 4%23 ub | M
APPROVED  Fis onen XGQTO6L-125-2 1255 511962 2.%3 4%23 ™
XGQTO6L-125-3 ]255 ;f;‘g,i 2%3 4%23 ub | ™
XGQTO6L-150-1 1560 (],_526% 2.%3 51.45?1 i
XGQT06L-150-2 ]560 J_%%L 2.%3 51.45?1 ™
XGQTO6L-150-3 1560 }fgéf—, 2.%3 51.45?1 ™
XGQTO6L-200-1 220 §?§{Z’ 2.%3 6?57329 A
XGQT06L-200-2 220 : };:; 2.%3 6239 ™
XGQTO6L-250-1 2%0 1%(_"57'2‘:3 3%3 8,24124
XGQTO6L-250-2 21&2)0 1%7_3'5% 2.%(; 8.24124 ™
XGQTO06L-300-1 3]%0 1‘22'3"; 2.%(; 9?225
XGQTO6L-300-2 31(;0 1?;?57,5',% 2.%(; 9?(1?5 v ™
XGQTO6L-350 3]540 1%7'403 2%(; 112_324

L
rhinotek



90° Elbow Technical Data

Model: XGQTO6L si . Working 90° Elbow
Part No. Dh:jien Pl:“;gr? Pressure (Long) UL FM
PSI/MPa L mm/in

xoaroel2s | 7 315 207 224
xoaroel-32 | L | o 207 2755 | U | P
e A 207 2755 | U | P
XGQTO6L-50 % 2 90 R uL | FM
XGQTO6L-65-1 2632 27::;705 2%97 3?754 UL FM
XGQTO6L-65-2 2632 3'.73(';0 2%97 3?754 UL FM
xoaroe80 | Y| ggo 207 N
XGQTO6L-100 13_0 4]_13032) 2%97 ]%7 UL FM

- xoaroelzs1 | ' | gghy 207 551

e S 207 551
@ eﬂ d’ XGQTO6L-150-1 ]560 6]65%1) 2%97 6?236 UL FM
APPROVED  Fis  riomens XGQTO06L-150-2 1560 g’gz":’_, ;’%‘; 6?23 o UL | M
XGQTO6L-200 230 82]69215 ;%97 7?,?35 UL FM

L
rhinotek



45° Elbow Technical Data

Model: XGQTO7 ; F
Part No. RZE Alle s, 45° Elbow uL FM
DN/in mm/in L mm/in
XGQTO07-25 215 1351; 1.236 Ut A
XGQTO7-32 o i 1732 o ™
XGQTO7-40 14 1(/), 1?636 1.3?2 Ut A
XGQTO07-50 520 f,?'fé 2.?)107 Ut M
XGQTO7-65-1 > = o uL FM
XGQT07-65-2 > s >~ uL FM
XGQTO7-80 % R o uL FM
XGQTO7-100-1 o s o uL FM
! XGQTO7-100-2 o st o uL FM
XGQTO7-125-1 125 e - uL FM
XGQTO7-125-2 1255 5‘19(')2 32367 uL M
& ¢ 5- '

ﬁ"% ( ! M’ XGQTO7-125-3 1255 ;"2633 3_%367 uL M
XGQTO7-150-1 50 o0 s uL FM
XGQTO7-150-2 1‘20 ;.%561) 3_85%3 uL FM
XGQTO7-150-3 50 s s uL FM
XGQTO7-200-1 220 g"g{z 41.221 uL FM
XGQT07-200-2 290 ool P ut M

XGQTO7-250-1 250 27 2263
XGQTO7-250-2 250 2780 . uL FM
XGQTO7-300 500 3259 ooy uL FM

The specific items list shall be subject to the public notice of FM and UL website.

L
rhinotek



22.5° Elbow
Model: XGQTO9

Size Pipe O.D. Working 22.5° Elbow

Part No. DN/in mm/in Pressure Standard UL FM
PSI/MPa L mm/in

XGQT09-25 215 13;1; g%(.; 13212 UL FM
o932 | P | jgo 207 s | U |
xearos-40 |y | jog 207 i | U |
XGQT09-50 % s 90 e uL | M
XGQT09-65-1 2652 2.738)'7()5 ;%97 521 UL FM
XGQT09-65-2 2632 3'.73(')10 ;%97 521 UL FM
xearos-80 | P | g | s 2280 | UL | P
XGQT09-100-1 ](310 ‘110285C2) 2%97 2;?74 UL FM
XGQT09-100-2 ](310 ;1;'036 ;%97 2;‘?74 UL FM
XGQT09-125-1 1255 5135903) 2%97 2;?74 UL FM
@ & d XGQT09-125-2 1255 5145163:’5 2%(,)7 233:,,)74 UL FM
APPROVED F? nsmg XGQT09-150-1 ]io (1)529 6(()) 2%(,)7 :;7?1 UL FM
XGQT09-150-2 ]io 61%%1) :2’)%(,)7 :;7?1 UL FM
XGQT09-150-3 1%0 (])6()82?__’ :2’)%(,)7 :;7 ?1 UL FM
XGQT09-200 230 82 })92:__’ 2%(,)7 35.;;7 UL FM
eato9-zs0 | 50| e | am am || ™
eatos-s00 | %) | gne | ow age | U | P

The specific items list shall be subject to the public notice of FM and UL website.

L
rhinotek

19



11.25° Elbow
Model: XGQT10

Technical Data

ey

L
rhinotek

Size Pipe O.D. Working 11.25° Elbow

Part No. ST mm/in Pressure Standard UL FM
PSI/MPa L mm/in

XGQTI0-25 215 13 ;1575 g.%(; 1.::37 ™
XGQTI0-32 1313. 1%5‘(1) ;.%3 1.?3’37 ™
XGQT10-40 ]4 1/02 ﬁf()% ;.%(; 1.237 B
XGQTI0-50 520 26,2'735 2%3 1.?737 Uk ™
XGQTI0-65-1 26 52 27 3'705 2%3 1.236 ™
XGQTI0-65-2 2652 3,7&)10 2%3 1.226 ™
XGQTI0-80 830 fﬁg?o 2.%3 1.236 B
XGQTI0-100-1 1?10 11(_)2852 2.%(; 1.3\;‘:2 B
XGQTI0-100-2 1?10 4],1;6?:) 2.%2 1.329 B
XGQTI0-125-1 1255 ;.35%% 2.%3 2.c5>]o7 B
XGQTI0-125-2 1255 51_‘22,33 2.%2 2.c5)]o7 ™
XGQTI0-150-1 1560 (]f;é% 2.%(; 2.(5)107 B
XGQTI0-150-2 1560 (:.%%l) 2.%3 2.(5)107 B
XGQTI0-150-3 1560 ;f_’:éss S%c; 2.?)]07 ™
XGQTI0-200 220 : 1,92']5 g.c())(; 2.(5)107 B
XGQTI0-250 21%() 1%)7,735% ;.%3 2.?215 ™
XGQTI0-300 31020 132?57’5% S%c; 2.2314 B

20



Drainage Elbow
Model: XGQTO6D

Part No. T st o Dimensions mm/in uL | M
PSI/MPa | L A B

xearoep-so | | D8R | S0 | s3es | 2sm0 | tare | UL | M

XGQTO6D-65 | 7y | e or | eow | ahes || R | W | B

xcarosp-80 | S 5 || doin | o || e || O | BX

xearosp-00 | 0 | Nt | S0 | S| o786 | 2m0s | U | P

xearosp-iso | ' | SR | 0 | ace | a7e6 | sean | UL | M

N xearoep-200 | %% | FOr | 50 | J7e | 2786 | aser | UL | P

e Y

L
rhinotek

21



Tee
Model: XGQT12
& XGQTI2L

i) <t> ¢ @)

APPROVED FIS  Fismena

L
rhinotek

Technical Data

. Tee
Size D
DN/in mC')nlam Part No. o Part No. Short o ™
L mm/in L mm/in

215 33 XGQTI2L-25 oo XGQT12-25 oona | UL | M
2 ] 24 | xeama-a s XGQTI2-32 S0, [ u | M
20| 25 | xeamai-ao s XGQTI2-40 S0, [ u | M
2] 292 | xeamai-so o XGQTI2-50 orvs | UL | FM
oo “;"705 XGQTI2L-65-1 3?54 XGQT12-65-1 gy | UL | M
2632 3.78610 XGQTI2L-65-2 3?5’4 XGQTI2-65-2 2;%2 uL | M
83? 35.;330 XGQTI2L-80 41221 XGQTI2-80 3%% 6 | UL | FM
130 2&852 XGQTI2L-100-1 %7 XGQTI2-100-1 4].8126 uL | M
130 4:.1:630 XGQTI2L-100-2 %7 XGQTI2-100-2 4].8126 uL | M
%5 ;‘.7’2‘7’5;% XGQTI2L-125-1 ;1?1 XGQTI2-125-1 4T§(2)3 uL | M
%5 ;1%2 XGQTI2L-125-2 ;1?1 XGQTI2-125-2 4?33 uL | M
%5 ;fg% XGQTI2L-125-3 ;1?1 XGQTI2-125-3 4?53 uL | M
1‘20 ;?296% XGQTI2L-150-1 6?22 . | XGQTi2-150-1 51.‘:3(1)1 uL | M
1‘:’)0 (J.%%l) XGQTI2L-150-2 6?23 o | XGQT2-150-2 ;i% uL | M
1‘20 ;(?22'3; XGQTI2L-150-3 6?23 o | XGQT2-150-3 ;2?1 uL | FM
220 ?é’iﬁ XGQTI2L-200-1 7?;’535 XGQTI12-200-1 (,Zgg uL | FM
220 ég; XGQTI2L-200-2 7?;’25 XGQT12-200-2 (Jggq uL | FM
2%0 ]%7.;7’5% XGQTI2L-250 92‘535 XGQTI2-250 8.223 .| UL | M
390 | 322 | xeamai-300 2o XGQT2-300 | 2o | UL | FM

The specific items list shall be subject to the public notice of FM and UL website.

22




Cross Technical Data

Model: XGQT14 Part No. Siz? Pipe OD Cross Star!dard UL M
DN/in mm/in L mm/in
XGQT14-25 215 1337)1; 2.2314 ot M
XGQT14-32 f,i ?%2 2.%%2 ut ™
XGQT14-40 14 1/02 41%3 2.%%2 ut FM
XGQT14-50 520 26,2'735 2.77%5 Ut FM
XGQT14-65-1 2652 27 ‘3'7% 2_29?92 ut M
LQ XGQT14-65-2 2652 3,7&',10 2_29?;2 ut M
sl 5
W o JFIF xoama-eo 5 5500 506 u | o
. _\\.F_f/_ Y s XGQT14-100-1 130 1?285'-,2 4].8126 ut FM
1
L XGQT14-100-2 ]30 41154630 4],8126 ut FM
XGQT14-125-1 %5 ;:336 4%23 ut M
ﬁl\.% 4! \é’ XGQT14-125-2 1255 ;iqdz) 4%23 Ut M
XGQT14-125-3 1255 ;ﬁé 4%23 ut FM
XGQT14-150-1 “ZO 2,5575% !;.45(1)1 ot M
XGQT14-150-2 “ZO ;g%l, ;,45(1)1 ut M
XGQT14-150-3 “ZO }f:fs ;,45(1)1 ut FM
XGQT14-200 220 é 1,92':-, 6229 ut FM
XGQT14-250 2%0 1%7_735% 8,24:24 ut M
XGQT14-300 31%0 ?337;-,) fffb ut M

The specific items list shall be subject to the public notice of FM and UL website.

L
rhinotek

23



Reducing Tee
Grooved

Model: XGQT13

APPROVED FIS

L
rhinotek

1

FIS MENA

Technical Da

ronte, | Nomnasie | rech [ Wewnerenre [ omewers | u [
XoQTis-40x32 Tk 1900 % 1900 X 1660 278 2502
XoaTI3-50K32 EPe 23781 2575 x1.660 275 2755 woofoem
XoaTI3-50%40 2 2375 2,575 x 1900 275 2755 woo|oem
XoQTI3-65X25 2t 2678 2875 x 1315 278 20%2 woofoem
XoQTI3-65X32:1 PR 2675 2875 X 1660 278 2092 woofem
XoQTIa-65x40-1 hxlh 26752 2875 x 1900 275 2092 wofem
XCQTI3-65X50-1 2hn2 2675 % 2875 3 2.575 275 2092 wofoem
XCQTI3-68%25-2 S 3000 % 5000 % 1515 275 2092 woooem
RCQIISAEcAS2,2 26'2 i ?2'/‘ 5070661 : ;%:)é :";1260 ggg 23;?;2 L gl
RCRIIESA 02 ] SR Ao e B o s Bt
XoQTI3-65X50-2 2hn2 30004 5,000 % 2.575 i 209 u
Xoqms-sox2s s 5500 % 5500 X 1315 275 5386 wo| e
XoQms-soxa2 EPe 5500 % 5500 % 1660 275 3306 wo| e
XoQms-soxso EPEs 3500 % 5500 %1900 275 3306 wo| e
XoQTI3-80X50 R 3500 % 3800 % 2.575 275 3386 woofoem
XoQTIs-80X65- 3x2% 3500 % 3800 x 275 275 3386 woofoem
RCQIISB0 g2 gixzé'z 35?)%?3?6%);?300 2112 3;%6 e gl
XoQTI3-100x25 i 4500 % 4500 % 1315 275 2016 wofoem
xoaTis-oox4o s 450014500 1500 275 a0t wo| e
XoQTI3-100X50 ez 4500 4500 % 2375 275 a0t wo| e
XoQTis-100xes-1 pie 4500 4500 2575 275 4016 wo| e
XGQTI3-100X65-2 pedsn 4500 x 4500 X 5000 275 206 o
XoQTI3-100x80 “ns 4500 % 4500 % 5500 275 2016 woofoem
XGQTIS-125X50-1 Txa 5500 % 5,500 x 2575 207 4503 woofem
XoQTI3-125X65-1 Suan 5500 x 5500 X 3000 207 483 wofem
XoQTI3-125¥60-1 s 5500 15500 x 3500 207 2843 wofoe
Xeams-i2sxi00 i 5500 % 5.500 x 4500 207 v R
XoQTIS-125X50-2 S 5563 5565 x 2575 207 ags u
XoQms-i2sxes-2 Sx2% 5563 x 55563 x 5000 207 aes u
XoQTIS-125X60-2 oxs 5563 15,565 % 2.5 207 253 u
XoQTI3-150x40-1 bk 6500 % 6500 % 1900 275 san woofoR
XoQTI3-150X50-1 Sexz. 6500 % 6500 % 2575 275 ssn wo| e
XoQTIs-15oxes-1 oxar 0:500 x 0.500 x 000 275 ssn wo| e
XGQTI3-150X80- oxs 6500 x 6300 x 5500 275 san wof e
XGQTIS-150K100-1 s 65002 6,500 x 4500 275 son wo|
XoQTIs-150K125 Coxs 65005 6:500 % 5500 275 s P
XoQms-150x40-2 o1k 66252 6,625 x1900 278 s wo| e
XCQTI3-150X50-2 ez b5 0678 % 2575 275 ssn o
XGQTI3-150X65-2 bx2% 6625 % 6625 x 2875 275 san u
XCQTI3-150X65-3 ox2% 6,525 6625 x 3000 275 ssn wofoem
XoQTI3-150X80-2 Coxs 6625 x 6625 % 3500 275 ssn U
XOQTI3-1501100-2 e 6625 % 6635 % 4500 275 ssn wofoem

24



Reducing Tee Technical Data

Grooved Nominal Size Pipe O.D porking Dimensions
Model: XGQT.IS e N mlmlin = mrlnplin [;xd ';;T;;Iu;: II. mm;in L LH
— T T R )
—— N
— N R
—— R
— AL
cornmoneor | #0190 | gz | wm | EC | w | om
— R A
coremomss | PR | gmmmbws | | B | W
comsoer | w0 | gmmnen | me | B | w | m
—— R
— il AR
—— T A R
KCCIISLZ0DKC 0N 251% ); ]650 102.;§§ xxl?)'.l'?.";g i fggo 2.%3 8.24135
MEEIMEARIED=) s T o o o o 75
— — AR
— Tl AR
@ <> 4 o R
APPROVED  Fis  rsmena XGQTI3-300X200 300 x 200 323.9 x 323.9 x 219.1 300 245 L
12x8 12.750 x 12.750 x 8.625 2.07 9.646
X5QTI3-300x250 Haxio. | tamoxarsoxions 207 voss | U | M
Reducing Tee
Model: XGQT13 - , _—_
Part No. N°"n‘1':1‘;'i:'ze nf;’:fir?b?a Pressure u L2 uL M
PSI/MPa
xoams-soxsoxioo | S0 TR0 | 0w a0 | 201 | ssiz | sew | W | P
xoams-soxsoxiso-1 | B0XE0 X0 | eox 6500 | 207 | ssi | ss2 | U | M
xoams-soxsoxiso-2 | B0 K O | o650 | 201 | sew | sem | W | M

Oy

FIS  Fismena

L
rhinotek

25



Reducing Tee
Threaded
Model: XGQT13S

®=u-¢9

L
rhinotek

Technical Data

Part No. Nominal Sze | Fipe OD. bromore | Dimensions |y | gy
PSI/MPa

xeanss-s2xzs TS| resoxiceontas i 2562 u
XGaTT3s-40125 Y50 | 1900x1900 %1515 i 252 u
xeamss-aoxzz | I | 1900 %1500 1660 T 2562 u
XGaTI3s-50x25 2| awmsxasmiss 200 2785 w |
XGamss-50132 Taih | 2Ssassmxises 20 2785 wo| e
XGaMss-50140 Daik | 25752581900 20 2785 wo| e
xeamss-eoas | R | e e 275 2092 wo| e
xeamss-esaz | 03T | puxgemsxleso 278 2962 s
xeamss-eskiol | 315 | sy aase 190 27 2092 wo |
xeamss-ess01 | 3L | pie ) sans pers 27 2092 wo|
eamss-onas2 | PN | 00 Foooxims | aon 2962 wo| e
RO 22 2hx1t | 3.000%3000 %1660 >07 200 o FM
xeamss-esa02 | 201 | so00xac00x1900 | 207 2962 wo| e
xeamss-esso-2 | 50| so00wsoo0xawms | 20 2092 u
XGan3s-40125 "1 | 3s00x3s00x131 200 3306 wo|
Xeanss-gox32 Sxi% | 3s00ass0x1se0 | 200 3306 wo | e
XGamss-goxdo Sxi%n | 35005800x1%00 | a0n 33506 w | e
XGarT3s-g0xs0 "ixs. | ssoonsscoxaws | aon 3306 wo| e
XGQTI3s-e0xes $2% | 3sooxssooxsooo | e 3306 L
xeamssooas | QN | 4560 ke s 200 401 wo|
eamesooaz | ETE | 4500 dsc0xieso | 207 40 wo | e
reamssooxso | YD | 500 0N is00 | 2on 40 wo | e
eamssooso | QN0 | Gd e\ | a0 40 o
xeamssooxes1 | 90057 | 4gcoxasooxses | 200 400
xeamssooes2 | 5500 | 4gocuasc0xso00 | a0 401 wo|
xeamssiooo | 00| g0 asooxss00 | 200 40 wo|
xeamssmoas | FRE | G800 e 200 4503 wo | e
xeamssoczl | S | ssooxssoonteeo | a0 4503 wo | e

26



Reducing Tee Technical Data

Th readed Nominal Size Pipe O.D. pWCIking Dimensions
Model: XGQT13S Part No. monin mondin Dxd G20 || Sonmn || G || G
XoQTISS-125%40-1 S 5500 x 5.500 ¥ 1900 207 agos | U | ™
XoQTISS-125X50-1 it 5500 x 5500 x 2575 207 agos | U | P
XGQTISS-125X65-1 X2t 5500 x 5500 % 3000 207 agos | U | P
XGamss-125¥60 oxs 5500x5500x3500 | 207 agos | U |
XoQTISS-125K25-2 Y 5563 5,565 1315 207 agos | W
XGATISS-125X52-2 S 55635565 1 1660 207 agos | W
xoamss-zsxao-z | ) 5 563 5,565 x 1900 207 agos | W
xeamss-osxso-2 | g0 55635565 x 2575 207 agos | U
L XGQTISS-125X65-2 X2t 55635563 x 500 207 s | U
‘ xeamss-soxas | QI 6500 X 6500 x 1515 207 s | | ™
| = XeaMss-150x32-1 Pt 6500 6.500 41660 207 s wo | e
| XoQTISS-15040-1 o1 6500+ 6,500 x 1900 207 e wo| e
g XGTISS-150X50-1 oz 65005 6500 % 2375 207 s wo| e
l a XGQTISS-150X65-1 oxan 6500 % 6.500 x 5,000 207 s uwo| e
: , xeamss-soxeol | P 6500 6500% 3500 | 207 s | | ™
xeamsssoxaz-z | g 66256675 x 1680 207 e wo| e
<G> db xoamss-soxao-2 | 'Sy 6625 6,625 1 1900 207 e wo| e
. APPROVED ﬂ ’ xoamss-tsoxso-2 | % 5 6625 6.625 % 2575 207 s wo|
xeamss-soxes-2 | 0500 6625 6,625 % 3000 207 s | w |
xeamss-woxeo-z | S° 6625 16,625 % 5500 207 s | w | ™
XGQTIs-200X80 s 5625 ..625 x 3500 207 0869

L
rhinotek

27



Grooved Reducer Technical Data

MOde|: XGQT.Ib Working
Part No. Non':‘i;allinsize r:::Zr?D?(d Pressure Dil-m::‘sliionns uL FM
PSI/MPa
XGQmI6-32x25 e r6bo x 13 275 262 |
XGQTI6-40X25 et 1900 ¢ 1497 pya: 262 |
XGQTI6-40X32 T T . 25 |
XGQTI6-50x25 T S e 2% oM
XGGI6-50X32 Pty 2378 x 1569 278 2% |
XGGTI6-50X40 Tarh 2578 1960 278 28 |
MEAIS RS P A b P

XGQTIe-65X32-1 Shxih 257 ¥ 1660 278 25 |
XGQTI6-65X40-1 1% 257 1690 o 262 |
XGQTI6-65X50-1 Sra 2872578 278 252 |
XGQTI6-65X25-2 o 200 1327 278 A u|
1L RCOTICAERXS2,2 2 hx 1t 2096 ¥ 1669 278 252 ok e
L L ] XGQTIe-65X40-2 hx i 2996 x 1990 278 25 U
XGQTI6-65X50-2 B o . 252 |
: XGQTIs-80x32 Tk 3500 ¢ 1669 278 2% |
@ APPROVED 4! }sé& ACCIICE0CO ERrA S e e u i
XGQTI6-80X50 Py 3500 x 2575 278 A o |
XGQI6-80X65-1 H 3500 x 2875 278 282 u|
XGQTI6-80X65-2 o 3500 % 5,600 278 252 u|
XGQTI6-100X32 by 4500 x 1660 278 300 u |
XGQI6-100X40 Py 45601900 2% 200 o |
XGQTI6-100X50 Cars’ 45605 2575 278 300 o |
XGQTI6-100X65-1 Prttn 4500 » 2875 278 300 |
XGQTI6-100X65-2 Pt 450023000 278 300 |
XGQTI6-100X80 e Ak 278 300 U
XGQTI6-125X52 Fita 5:500 ¢ 1669 275 350 u |
XGQTI6-125%40 % 5500 » 1960 o7 520 |
XGQTI6-125X50-" s 5500 x 2 5781 So7 580 |
XGQTI6-125X65-1 Epk 55002 5,600 s 320 |
XGQTl6-125X80 iy 5500 % 3600 307 380 | oem
XGQT6-125X100-1 e 5500 % 4800 207 380 | oM

XGQI6-125X50-2 s 51868 x 5375 307 3E0 uL

XGQTI6-125X65-2 i 5543 3.000 So7 580 u

XGQI6-125X100-2 ¥ 5563 x 4500 S07 550 u

L
rhinotek

28



Grooved Reducer Technical Data

MOde|: XGQT.Ib Working
Part No. Nor:nni'r:‘c;linSize r::::r?D?(d Pressure Dil-m:nmsli?nns uL FM
PSI/MPa

wamesoeon | Bx® | s [ g P
wamewoesy | Box® | e [ P
comeoeon | Sy | Jmms | om [ m |
wonesomor | 00 | e[ [ m |
wonewoms | BoxE | st | 2w |

comewomsz | E | jmms [ 2 | w
wamewosoa | i | lemes | m I
comermes | 53E | ST | FIE
ooz | e | jmnme | xe |om |y |
| ameomoa | e | jesama [ g 2w |
womewomss | E | Jedpe [ 2w |

L7 . woareoonso | X9xE0 | ZeIxeel = =z,

wonemoso | P00 | genes | 1 IE
wamemooss | 2ps | miE | | m [ w |
@<t ¢ womeaoesz | 20 | el [ 2w |
oo | B0 | e[ g FE
womemons | 0 | g | g IE
wonemonn | 2P| g | AIE

womemonsz | B | mmms | x| |
caneaosor | 29X | s 2w |
camewonsos | My | zeles [ xo 2w |
wonezonoo | B | mmonws | xo R
oo | Bou® | moxe [ wm E "
wonezomes | B0E | ol | @ FIEE
conemoan | Fyme | mozm [ om | m [ w | W
wonewono | x| moxus [ %o B "
conewonss | x| mowm | = .
wome o | R | om0 = .

womeomes | R | mies | m |
womesoao | By | moan | om | w | e
oanewomo | x| meam | I

L
rhinotek

29



Threaded Reducer
Model: XGQT16S

® <y ¢

L
rhinotek

0

FIS MENA

Technical Data

Nemveldze | reeoDy | wmare | Cmeer | w |
PSI/MPa

wE | omew | o= S | w
o | gpew | o S | u | o
S R
o | o | o= R
wanesesas | S 100 S | u | o
T S | u | o
e R
waneemeor | 5% | mres | S | u |
wanesesasz | fxE | ensL | g S | u |
anesesazz | grR | enel | e ERE
waneesaoz | f20 | el | g S | u | o
waneemeoz | S | s | g R
s | mew | R
w2 | mee | S | u |
wrie | e | = S | u |
e | o mner | M S | u | o
anesaosy | SXS | B | e 2
anesaoesz | WE | Bl | g % | w
wanesioas | | a0 EE
sz | xR | MEees | g e | | e
wanesioowa | 03i0 | s | g0 EE
woamesiooso | 09x50 | axces | 0 e
roamesioossa | WO | usxme | e e
wamesiooss2 | 035 | lesael | 0 R
anesoeo | gxg | e | a0 e | | e
wanssses | VR | w0 EERE
wanesuse | B3| Jmpees | e ERE
anesusao | B | Jwres | e S | u |
wanesuseo | | Jmbees | e R
wanssses | EEAsS | Beael [ K
wonesusao | x| B | %o R
wanesuscoo | 20| miames | =

30



Threaded Reducer Technical Data

MOde|: XGQT16$ Working
Part No. Norr\:‘i'r'l‘allinSize r::znoD?(d Pressure Dil-m':nmsli?nns UL FM
PSI/MPa

consnsas | PaE | g | g | w0 |y

o | 2E | el | m | om0 | w

oo | EP | e | m | om0 | w

o | Tan | Sl | & | & | o
wonsmoasr | WxE | i [ @ | @ | w | o
conssocr | x| jenel | @ | @ | w |
womssoaon | ae | e | ome | omo | | m
TN XGQTI6S-150X50-1 ‘52 X 50 st g%;’s Z’%c; ‘:%22 uL FM
k- ot | Sz | e[ om0 | @ | | m
%'?.-‘ ' XGQTI16S-150X80-1 152; zz’ao 6‘15653 . §,85'30 ,i%?, l%zz uL FM

i
XGQT16S-150X100-1 199100 oo XS 00 2 uL FM
i XGQT16S-150X25-2 152 : 125 ;3)82';’ : 1‘7’;,:7 2%97 ‘1%22 uL FM
b

=L conssoces | @ | mres | me | = | u | om
oo | r0 | jmmas | pe | @ | u | ow
XGQT16S-150X50-2 ‘52 : 250 ;?2'2 x 32'735 ;%3 1%22 uL FM
X conswosz | S | jesvm | om0 | om |y | e
corsose | P | v | me | @ | u |
XGQTI6S-150X100-2 152 ’; LOO ;gg'g’ : Igg’o ;’%97 ‘1%22 uL FM
conmoc: | BuE | g | 2 | & | w | m
conmows | T | A | B | & | u |
cormose | S | gmen | 20 | 2 | u | om
corsmoss | W3 | 2 | 2 | 2 | u | om
corsmoso | M@ | mmms | m | @ | u | m
XGQTI68-200X100 200 x 100 g a3 s o uL FM

The specific items list shall be subject to the public notice of FM and UL website.

L
rhinotek

31



Grooved Eccentric Technical Data

Red ucer Nominal Size Pipe O.D. pCrking Dimensions
Model: XGQT.I7 RT3 N mm/in mm/in Dxd 'I:g;:’lu;: L mm/in St Bl
camooso | 3P| S | o | & | w |
camamest | R | gmme | x| % [ w [
ooz | 4% | B | 1B | sk | % | m
oo | o0 | s | om | g [ |
oo | 93P | Ja3ES | 1R | s | o |
ooz | 93| M | 2| e | w | o
d oo | Rxg0 | masxes T ose [ [ |
camses | x| e [ oEe [ m | e
e E YR

| —

e E R
/ . XGQTI7-150X50 150 x 50 159.0 x 60.3 500 102 uL ™M

I ﬁ 6x2 6.250 x 2.375 3.45 4.02
camsoest | 53R | S | iR | k% | w |
) camsoeor | 0| Jgmovees [ [ [ |
oommonoo | P | gmeveme | x| [ [ m
® <> d o womwonooz | i | o [ | om [ w |
camsos2 | 53 | e | o2 | = ||
camsowo | 0 | e |2 [ om || e
camsonoos | x| jesnma [ s e T | e
YR
oomens |y | gmnes | o | @ [ w [
camsonos | x| gemres [ | e [ |
wamsonsa | x| germn o[ [ m [ u |
oo | 20| e [ [ [
oamaooneo | 29 | s | me | m [ w [
amaos | x| gmem | owm | om |
oamaonor | x| gmm | omo | Em [ w |
XGQT17- 200 x 150 219.1x 168.3 500 127 u M

200X150-2 8x6 8.625 x 6.625 3.45 5.00
xeam-zsoxso-t | *01EP 1075 6,500 sas 598 o | e
xeam-2soxso-2 | #3070 75 6625 348 598 uo |
xeamm-asoxa00 | %L 5° 1075 %8625 548 508 uo | e

The specific items list shall be subject to the public notice of FM and UL website.

L
rhinotek



Flange Adaptor

e R e s | o |
Model: XGQT18 ' mm/in | MM/inDxd | oo Mpg L X Y z mm
I Y 23 | 207 | 240 | 64ss | 4o | oms | 47t | u |
xoame-6s-1 | % s | 207 | 40 | 7285 | s70 | omes | 4"t [ u | m
HEEIEFES 26 i 3.7(?6)10 2%2 2.(20 7?323 ;;?) 0.!7218 Salc & 75
xoams-s0 | 7 5500 | 207 | a0 | 767 | 629 | onas | 86 | u | P
xeametoo | 100 BRGS0 | 40 | seer | 7o | omes | B7Me | uL | M
xoame-too2 | 0| St | 3% | o7s | sest | 708 | onas | 87Me | UL | A
xoames1 | E | R0 | 00 | g% | ces | sas | omss | 8°Me | UL | P
; £ woomsusz || B | oxe | e | e | 2] B ] s ||
1 MM 1560 E’jé% ;.%3 2.77%5 1?.8252 9?:408 0.!7218 I=rED | W | FH
e _ xeameso-2 | 0| S | J0 | o7es | mas | oass | onas | 8°M20 | UL | M
gl xeames0-3 | 0| SER | J% | o7s | mas | oass | onas | 8°M20 | UL | M
: - xeame-200 | 20 | oL | 5% | seo | mas | ne | oms | M0 | L | FM
L L ACOIIEEY 21%0 1%)7.::)6% ;%?, 3‘§i6 13224 1331.557 O%ib (220 i 5
xeameso0 | %50 | ZUO | 0% | shes | wem | tem | oce | 27M20 | uL |
xeame3so | %0 | G0 | 207 | sosr | 2047 | meo | vop | 'e-M2e

@ e’ d’ The specific items list shall be subject to the public notice of FM and UL website.
APPROVED FIS

FIS MENA-

L
rhinotek

33



Grooved Flange
PN16
Model: XGQT19

®=p-¢9

Grooved Flange
ANSI - Class 150
Model: XGQT29

e

L
rhinotek

Technical Data

Nominal g%e Working Dimensions mm/in Bolt Size
Part No. Size ‘" | Pressure No. - Size | UL | FM

mm/in mlr:/ PSI/MPa A B C D mm
%0 | 2 |23 | 200 | a0 | ose | eass | asm | 47ME | UL| P
“ost | 2n | 2875 | 200 | oass | ose | n28s | s708 | 47ME | UL|PM
“io2 | 2 |3000| 207 | oass | ose | n28s | s708 | 47ME | UL|PM
0 | 5 |3500| 207 | 10039 | ose | 7874 | 620 | BM | UL|PM
00 | '@ |as00| 201 | o765 | oass | seer | oss | BM | UL| P
M1 | s |5800| 207 | 124a | 0ase | osa | azer | BM6 | UL|FM
M52 | s | sses| 207 | 14s | osss | osa2 | azer | BTMI6 | UL|PM
50 | 6 | e500| 207 |15622| 0866 | M2z | oass | 87M20 | UL| P
Mooz | 6 | 6ess | 207 | 15622 | 0866 | M2z | oass | 87M20 | UL| P
200 | s | sezs| 20r |eass | 1025 | 1536 | mew | 127M20 | UL|FM
a0 | 0 | sess| 201 | wess | 1063 | 1sos | 15076 | 127M20 | UL | PM

The specific items list shall be subject to the public notice of FM and UL website.

Technical Data

Nominal gF;)e Working Dimensions mm/in Bolt Size
Part No. Size mm/ Pressure No. - Size | UL | FM
mm/in in PSI/MPa A B C D mm
XGQT29- | 50 | 603 | 300 | 206 | 22 | 182 | 12
50 2 2375 | 207 | 810 | 0866 | 5984 | 4763 | 4 M6 | UL|FM
XGQT29- | 65 | 730 | 300 | 230 | 22 | w8 | 140
65 2% | 2875 | 207 | 9055|0866 7007 | 550 | ¥~ M6 | ULIFM
XGQT29- | 80 | 889 | 300 | 242 | 24 | w1 | 152
80 3 |3500| 207 | 9527|0944 7519 | 598a | 4~ M6 | ULIFM
XGQT29- | 100 | m43 | 300 | 280 | 24 | 229 | 191
100 4 |4500| 207 |1023|0944| 9015 | 7519 | M6 |ULIFM
XGQr29- | 125 [ 1397 [ 300 | 325 | 245 | 258 | 216 | o _\.o0
125-1 5 |5500| 207 |12795|0964| 10 |8503
XGQT29- | 125 | 1413 | 300 | 325 | 245 | 254 | 216
125-2 5 |5563| 207 |12795|0964| 10 |s8s03 | 8 M20 |ULIFM
XGQT29- | 150 | 1683 | 300 | 345 | 245 | 282 | 2415
150 6 |6625| 207 |13583|0964| n102 | 9508 | & M20 |ULIFM
XGQT29- | 200 | 2191 | 300 | 4143 | 28 | 3414 | 2985
200 8 8625 | 207 | 1630 | 1102 | 1344 | nys | 8 M20 UL FM
XGQT29- | 250 |2730| 150 | 500 | 30 | 405 | 362
250 10 | 1075 | 104 |19.685| 1181 |15.945 |14.252 | 12~ M24 | UL|FM

The specific items list shall be subject to the public notice of FM and UL website.

34



Drain Cap Technical Data

Model: XGQT23 — , Working | o

Part No. Nonr::::;li:ue r:rlr':lemoDE)’(d Pressure Dll-mr::‘sll?nns UL FM
PSI/MPa

xoarzs-a02s | VLT | jooixrsn | sas | ose
xoarzs-sox2s | % | Juelisy | as | ose | U | P
xearzs-sox40 | PN | Jgeiieoo | sas | ose | U | P
xoarzs-e0x2s | 8| Joelism | sas | ose | U | P
xear2s-6x40 | 310 | s000x1s00 | 3as | ose | U | P
Ky xoar2s-6x0 | U570 | socoxzss | sas | ose | U | P
o o xoarzs-eoxas | PP | 50 Ty | as | ose | U | P

-
H| xoarzs-sox0 | PNV | giooiiooo | sas | ose | Ut | P
A | =

y comsoso | 9x® | muxeos | see | s |y |
corseoas | Wxs | mEmr | so | m |
et xearzs-toox0 | GENI7 | Jooiiso2 | sas | oo | Ut | P
¢ & xoarzs-tooxso | Q00| G0 % | sas | oe | Ut | P
xoarzs-oxso | P00 | eiokomms | sas | ose | U | M
xoarzs-eoxes | 0N | ot | sas | ose | U | ™M

xoarzstsoxa0 | TR | o iteo0 | 3as | o9
xoarzsooxs0 | S0P | ocioms | sas | oo | U | P
xoarzs-200x50 | *P0 | O ks | sas o ||

The specific items list shall be subject to the public notice of FM and UL website.

L
rhinotek

35



Adapter Elbow
Model: 22

®éy

FIS MENA

L
rhinotek

Technical Data

Working

Dimensions

Part No. Non;i:;li:ize n::zl?D?(d Pressure mm/in UL FM
PSI/MPa IR L2
23005 | 5% | igeaxosse | sas | im | 1eo | U | P
25020 | N5 | (geoxtose | 3as | im | da0 | U | ™M
25005 | SN | yesours | sas | s | vza | U | P
24005 | {00 | \goowoss | sas | m | vsm | U | P
24000 | 5% | Vocoutoss | sas | um | im | U | P
24005 | PN | oooxisz | sas | dor | 1m | U | P
25005 | D)5 | puewossy | sas | ars | im | U | P
25020 | 305% | Juutoss | sas | um | sy | U | P
25005 | %P | Josisz | sas | dov | es | U | P
26505 | 5305 | amxoss | sas | s | irs | Ut | M
26520 | 5N | amxiose | sas | 175 | s | U | P
26905 | N | ghas | sas | s | am | U | ™

The specific items list shall be subject to the public notice of FM and UL website.

36



Adapter Nipple
Model: 36

o—t——+

@b b

FIS  Fsmena

Reducing
Adapter Nipple
Model: 37

¢ &

FIS  Fismena

L
rhinotek

Technical Data

raie, | NemivelSie | Ppe0D. | pere | Omentene | u |
PSI/MPa

se-a0xa0 | VN | s00xis00 | 348 2as | U | P

se-soxs0 | %)X | Jymxass | sas 2as | U | P

se-soxa0 | DAY | Jsiisoo | 3ds 248

S A Bae A s 402

The specific items list shall be subject to the public notice of FM and UL website.

Technical Data

. 9 A Working 9 9
Part No. Nonn::;lin&ze r:rlr':zr?D?(d Pressure Dll-mr::‘sll?nns uL FM
PSI/MPa
40 x 25 48.3 x 33.7 500 63
O 1% x1 1.900 x 1.327 3.45 248 Ol
50 x 40 60.3 x 48.3 500 63
SIS0 2x1% 2375x1900 | 3.45 248 Ll

The specific items list shall be subject to the public notice of FM and UL website.

37



Flange Adaptor

ANSI-Class 150 . Pipe s Dimensions mm/in i
Model: XGQT28 PartNo. | Sixe- | O | Prossars N sie | UL | FM
mm/in mrrl;lln PSI/MPa L X Y 4 mm
e P
s | 2n | 287 | 207 | 256 | 700 | 5693 | 08| 476 [uL|Fn
B | | B | R e e 2]
oo | | s | | m s T
s e e el mmlEs
o | ' | 6635 | 207 |2755 | 1098 o807 | 1o | BM20 [uL [
LT e | w0 | 2 | 0 |5 (25 | 2 e [u |
| HEERRRE R
g L XGZ%Tg d 31%0 1\7;?;5'% g.%(; 3.%?13 1?31 1;.?)20 1.229 12-M24 | UL | FM

The specific items list shall be subject to the public notice of FM and UL website.

®¢ 9

FIS MENA

Table E Flange Technical Data

Modek X638 S s
mm/in ""g’ ™| psi/MPa | L X Y z mm
o | % | ows | 2% | 256 | 598 | adss | omz | 4™ ||
e | sop | 2006 | 28 | 2785 | 65 | 5050 | oz | 4-M6 [ UL |
0 | 5 | 5500 | 2% |2785| 73 | s4a | oson | 4™ ||
oo | 'a | 4500 | 28 | 2755 |as04| 7063 | oeso| BM6 | UL |
; £ 0 |6-nop| 6560 | 28 | 2785 | n02 | 9507 | o7er | 8-M20 | UL |FM
200 | 8 | a6 | 2% | 398 | 1327 |nave | oszr | 8-M20 | UL |FM

®¢ 9

FIS MENA

L
rhinotek

38



qu Technical Data

Model: XGQT20 Norni . . Working q q

Part No. onn:rr:‘allins ee DF:g ?n?n?m Pressure DLmne‘::;?nnS ut FM
PSI/MPa

XGQT20-25 215 13 ;; g.(;g <2).A;2 B
XGQT20-32 135, 1‘.1:5‘:) g.(;g (2).4‘32 B
XGQT20-40 14 1/02 1‘_15(')% 333 (2).4'32 ubo| ™
XGQT20-50 520 ; ‘3"73;, 333 gﬁég ub| ™
XGQT20-65-1 26’ 32 27 3‘7% 333 (2);'?) ub| ™
XGQT20-65-2 26 32 3_73(')10 333 (2);'?) ub| ™
XGQT20-80 83? fé‘;fo 333 g.‘;g B
XGQT20-100-1 1?;0 fgég 332 0?39 Uk ™
XGQT20-100-2 1?;0 4:_1;6% g.%(; 0?59 ubo| ™™
XGQT20-125-1 1255 ;,?235'(()) ;.%(; 0?39 ubo| ™
XGQT20-125-2 1255 ;_359(')2 ;.%(; 0?59 ub| ™
¢ G camnor | P | Ee | x| By [
IS roneua XGQT20-150-2 Lzo J_‘I—,%L ;.%3 0?9?9 ™
XGQT20-150-3 15(:0 Jfffs g.%c; 0?39 ub| ™
oo | % | | g | B |w|m
oo | % | o | m | = |u|w

The specific items list shall be subject to the public notice of FM and UL website.

L
rhinotek

39



Threaded Cap
Model: XGQT20S

7

®é G

FIS MENA

Hydrant Elbow
Model: XGQT21

Technical Data

Part No. Nosr;i;ul D';igfn%?i'n ‘5‘:22:3:3 Dil_"‘"fr':}‘i’n“s uL | M
mm/in PSI/MPa

woaosooas | %0:2 | 3 | w0 | m T w |

woarmos o | x| JEnr o | m |

oamos ez | 03 | Jesxmn | | |

waros oas | 29 | mera | we | |

camos o | 293 | e | o | m |

Technical Data

. q o Working
Part No. N°':":3'i:'ze r::f:;r?b?(a Pressure | LI 2 | u | ™
PSI/MPa
100 x 80 114.3 x 88.9 300 106 | 106
BRI 4x3 4500x3500 | 207 | 4173 | am3 | Y | ™M
150 x 80 1651 x 88.9 300 | 1305 | 1305
SISO B S 6500x3500 | 207 | 5138 | 5138 B

L1

®é Y

FIS MENA

L
rhinotek

40



Clevis Hanger
Model: CH1

¢9

FIS MENA

L
rhinotek

Technical Features
1/2" through 12"

Size Range
Material
Finish
Service

Approvals

Ordering

Technical Data

Carbon Steel

Galvanized. Other finish available upon request.

Recommended for the suspension of stationary pipe lines.

Complies with Federal Specification A-A-1192A (Type 1),
WW-H-171-E (Type 1), and MSS SP-58 (Type 1).

Specify pipe size, figure number and name.

Nominal Pipe Dimensions mm/in
Part No. | Pipe Size | O.D. m:\s,in bex'lmec uL
mm/in mm/in A B C s
DNIS 213 M EE
CHIZ21 | 0 0.838 15/8 | 2176 |
DN20 26.7 44 60 2710
S | e 1.051 13/4 | 23/8 L
DN25 | 337 50 70
CH1-33 1 1.327 M10 2 23/4 22 ut
3/8 7/8
cHiap | DNS2 | 424 61 85 oL
14 | 1669 23/8 | 35/16 =
DN40 483 73 100 3240
CHI-48 | 492 | 1900 27/8 | 35/16 L
DN5O | 603 82 15
Shilsse 2 2245 3va | 412 L
DN65 73 95 135
CHIFTS | 212 | 2375 | wmip | 33/4 | 513 mso |t
DN8O 88.9 172 105 155 30 6000
e 3 3.000 avs | 618 | 1376 L
DNIOO | 1143 140 200
Sl 4 4500 | wmie | 5172 | 778 uso |
5/8 6360
i | DN125 [ 1413 175 250 oL
E 5Bt 67/8 10 .
DNI150 168.3 190 280 19716 1940
e 6 6.625 71/2 n gez0 | Ut
DN200 | 2191 215 330 2000
CH1-219 8 8625 | Moo | 8172 13 ggoo | Ut
DN250 273 3/4 255 400 50 3600
Sz | g 10.748 10 53/4 | 2 1ooo | YU
DN300 | 323.9 300 470 3800
SHESZR B 12752 N34 | 1812 16900 | U

a




Ring Hanger
Model: RH1

¢ &

FIS  Fsmena

L
rhinotek

Technical Features

Size Range
Material
Finish

Service

Approvals

Ordering

1/2" through 8"
Carbon Steel
Galvanized. Other finish available upon request.

Recommended for suspension of non-insulated stationary pipe line.
Manufactured to use the min. rod size permitted by NFPA for fire sprinkler
pipe line.

Complies with Federal Specification A-A-1192A (Type 10),
WW-H-171-E (Type 10), and MSS SP-69 (Type 10).

Specify part number.

Technical Data

mm/in mm/in A B c
Al ')1525 02.:3;8 14{?2 27334 ut
RH1-26 Dzr,\l/io 12.8571 1 ‘;34 3 Z?w ut
Rhi-33 | ON2S | 3T 178 | 35716 16 s00 | o
5/8 2220
Re-a2 | O | s % | sons u
Al I?\11/420 1?6% g)g 2 ?316 3?738 ut
A AN !
Al S 2'\{?5 2.?7:7;5 3 1?16 51??/216 ut
Al 57 DNsao 32.38&;?0 38134 5111/516 Eﬂg Ut
w0 (2] [, !
13/16
RH1-141 DN5125 51.‘2633 41}38 821‘?4 uL
Reien | 20 | e | W2 | ssns | ose sas0 | U
k= DNSOO élys 7]?/34 123;5/8 ut

42



Pear Hanger
Model: PH1

¢ &

FIS  Fismena

L
rhinotek

Technical Features

Size Range
Material
Finish

Service

Approvals

Ordering

1/2" through 8"
Carbon Steel
Galvanized. Other finish available upon request.

Recommended for suspension of non-insulated stationary pipe line.
Manufactured to use the min. rod size permitted by NFPA for fire sprinkler
pipe line.

Complies with Federal Specification A-A-1192A (Type 10),
WW-H-171-E (Type 10), and MSS SP-69 (Type 10).

Specify part number.

Technical Data

PartNo. | Pipe Sve | O, | BS | Dmendonammin _{ max Rec |\ | py
mm/in mm/in A B c
P21 | S° | o3 212 | 316 o
PHI-26 | D120 | 207 S o
PH1-33 D'\FS 1%%77 MI10 2730/4 3 Z(/)lé 25 500 | -
p1-a2 | 0S| e * S 1 =
L 3':/420 1%563()) 2 1755/16 ]04];5 o
priso | 0| 0% sve | 4 -
HUIRE ?\#25 2.?75 3 3}16 5]??8 o
pH1-go | NSO | 889 o 478 | 6 3 w000 |
12 174 | 4400
Pi-nia | P00 | R 212 | 68 o
P | P2 TS P A o
e DNQ,SO ;é.féé M16 8232/24 1; 11?4 40 260 | -
5/8 172 | 5544
R DN§°° 82.]‘)92.15 9%2’??16 12?;7’4 o

43



Medium Pipe Technical Features

Clamp Size Range 172" through 8"
Model: PCI Material Carbon Steel
Finish Plain, Hot-Dip Galvanized with Zinc Plated Bolts & Nuts, Epoxy Coated
or Painted.
Service This product is not intended for use with hanger rods.
Approvals Complies with Federal Specification A-A-1192A (Type 10),
WW-H-171-E (Type 10), and MSS SP-69 (Type 10).
Ordering Specify part number.
Technical Data
Nominal | Pipe RS Dimensions mm/in Max.
Part No. | Pipe Size O.D. mm/ Rec UL | FM
mm/in | mm/in in A B C C Ibs/N
DN15 21.3 56 86
agiel 1/2 0.838 21/4 33/8 L
DN20 26.7 65 95
HAE 3/4 1.051 21/2 33/4 L
DN25 33.7 M10 70 100
0] HEEER 1 1.327 3/8 23/4 4 L
DN32 42.4 80 10
e 1174 1.669 31/8 4 5/16 12 500 e

120 1/2 25 2220

DN4O | 483 90
0 ‘“ PCI-48 | 312 | 1900 312 | 43/4 1 ut

FIS  Fsmena

DN50 60.3 105 140
e ED 2 2.245 41/8 51/2 t
DN65 73 135 170
FETE 21/2 2.375 55/16 | 63/4 H
DN8O 88.9 145 180
FelE 3 3.000 | M2 | 51716 71/8 t
172
pCl-11a | DNI10O 4.3 180 215 o
4 4.500 71/8 81/2 16 1000
5/8 4400
pCl-1a1 | DN125 141.3 210 250 o
5 5.563 81/4 917/8 40
DNI150 168.3 250 290 1916
Fel Y 6 6.625 917/8 n1/2 H
DN200 219.1 305 350
PC1-219 uL
8 8.625 12 13 3/4 18 1260
DN250 273 M16 365 435 3/4 50 | 5544
el 10 10.75 5/8 | 143/8 | 171/8 2 Ht
DN300 | 3239 415 485
Pl 12 12.75 163/8 | 191/8 Ht

L
rhinotek

44



Universal C Type
Cla mp Size Range
Model: TC1 Material

Finish

Service
Approvals

Ordering

Technical Data

Technical Features
3/8",1/2", 5/8"and 3/4"or M10, M12, M16 and M20

Ductile iron clamp, hardened steel cup point set screw and lock nut.

Black or Galvanized.

Structural attachment to top or bottom of metal beams, purlins, channel

or angel iron.

Complies with Federal Specification A-A-1192A (Type 1),
WW-H-171-E (Type 1), and MSS SP-58 (Type 1).

Specify part number and finish.

Rs A B e Max. Rec (Ibs)
Part No. Screw UL | FM
in in in in Top Bottom
TC1-100 3/8 3/4 11/8 3/8 500 250 uL
TC1-120 172 3/4 11/4 172 950 760 uL
TC1-160 5/8 13/8 11/4 172 1300 1080
TC1-200 3/4 13/8 11/4 172 1300 1080

Technical Data

Rs A B Set Max. Rec (N)
Part No. Screw UL | FM
mm mm mm mm Top Bottom
TC1 -M10 M10 20 29 M10 2220 mo UL
TC1 -M12 M12 20 32 M12 4220 3380 UL
TC1-M16 M16 34 32 M12 5800 4800
TC1-M20 M20 34 32 M12 5800 4800

¢ 9

FIS MENA

L
rhinotek



One Hole Technical Features

Pipe Strap Size Range
Model: HS1 Material

Finish

Service

Approvals

Ordering

Essal Technical Data - Dimensions (IN) Weight (LBS)

3/4" through 2"
Carbon Steel
Zinc Plated Steel (Hot-Dip Galvanized optional).

Hanger for CPVC pipe in the horizontal position on the side of structural
wood beams. It can also be used as a guide to limit movement of vertical
CPVC pipe with the tab in the horizontal position.

UL Listed

Specify part number.

> |- CPVC A B C E F Max.
/ Hanger e
| Part No. = Weight/100 | UL
' /] Pipe Size in in in | in in | Spacing (bs)
(FT.)
!
HS1-3/4 3/4 19/16 25/8 11/4 51/2 8 uL
T e d HSI-1 1 13/4 215/16 1172 6 9 uL
F! mw& HS1-11/4 11/4 113/16 33/16 | 1/4 [ 11/8 | 17/8 61/2 10 uL
HS1-11/2 1172 2 3916 21/8 7 12 uL
HS1-2 2 2316 4 25/8 8 14 uL
Two Hole Technical Features
Pipe Strap Size Range 3/4" through 2"
Model: HS2 Material Carbon Steel
Finish Zinc Plated Steel (Hot-Dip Galvanized optional).
Service Hanger for CPVC pipe in the horizontal position on the bottom and side
of structural wood beams, composite beams. It can also be used as a
guide to limit movement for pipe in the vertical position. When used on
composite wood beams, web thickness must be 3/8" or greater.
Approvals UL Listed
Ordering Specify part number.

Technical Data - Dimensions (IN) Weight (LBS)
CPVC A B cC| E F Max.
Hanger GREIRS
PartNo. | pipe I€T | Weight/100 | UL
Sige in in in in in SP(:;';‘Q (1bs)
HS2-3/4 3/4 | 23016 | 215716 1174 51/2 5 uL
HS2-1 1 27116 | 37/32 11/2 6 6 uL
d HS2-11/4 | 1174 |213/16 | 39716 | 1/4 | 11/8 [ 113/16 | 61/2 7 uL
- —— HS2-11/2 | 1172 3 313716 21/8 7 8 uL
HS2-2 2 3172 | 49/32 29716 8 9 uL

oy

FIS  Fismena

L
rhinotek

46



Two Hole 90° Technical Features

Side Mount Strap Size Range 3/4" through 2"
Model: HS3 Material Carbon Steel
Finish Zinc Plated Steel (Hot-Dip Galvanized optional).
Service Hanger for CPVC pipe in the horizontal position on the bottom of

structural wood beams. During Installation, adjust hanger mounting
flanges such that pipe contacts both mounting surface and hanger,
minimizing vertical pipe movement.

Approvals UL Listed.
Ordering Specify part number.
Ay
1 el L cPVC A B c | E F Max. | ,
‘ Lk Part No. i Hanger | o000 | UL
T ;'Ir:: in in in in in Spacing (glbs)
(ft)
' HS3-3/4 3/4 |125/32| 11/2 25/8 | 5172 5 uL
! HS3-1 1 2116 | 15/8 27/8 6 6 uL
i — HS3-11/4 11/4 213/32 | 13/4 174 | 11/8 31/4 61/2 7 UL
g S I AL HS3-11/2 | 1172 |22u32| 17/8 3172 7 8 uL
e d HS3-2 2 31/8 21/8 37/8 8 9 UL
orx
Two Hole Technical Features
Standoff Strap Size Range 3/4" through 2"
Model: HS4 Material Carbon Steel
Finish Zinc Plated Steel (Hot-Dip Galvanized optional).
Service Hanger for CPVC pipe in the horizontal position on the bottom of

structural wood beams. It can also be used as a guide to limit movement
for a pipe in the horizontal/vertical position on the side of structural
wood beams, composite wood beams.

Approvals UL Listed.
Ordering Specify part number.
Technical Data - Dimensions (IN) Weight (LBS)
CPVC A B (o E F Max. A
Hanger pprox
PartNo. | pipe Jer | \Weight/100 | UL
S in in in | in in Sp?ft'-;ng (1bs)
t
HS4-3/4 3/4 25/8 31/4 23/4 51/2 5 UL
HS4-1 1 221/32 | 35/16 3 6 6 UL
HS4-11/4 | 11/4 3 3 11/16 1/4 11/8 | 33/8 61/2 7 UL
HS4-11/2 | 11/2 35/8 41/4 35/8 7 8 UL
e} ‘“ HS4-2 2 4 | 42132 41/8 8 9 uL

FIS  Fismena

L
rhinotek

47



rhinotek

Gate 2, Aljada Logistics Areaq,
Behind Arada Project Management
Office, Near Airport Road,
Muweilah, 22436, Sharjah

rhinotek.ae




